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THE CIRCLE

Problem Set (1) (MULTIPLE CHOICE QUESTIONS)

1. If the equation az® + by? + 2hay + 29z + 2fy + ¢ = 0 represents a
circle, the condition will be

A. a=b and c=0

B.f=g and h=0

C.a=b and h=0

D. f=g and c=0

Answer: C


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nQ3JnZuGNaZm

° Watch Video Solution

2.The radius of the circle
322 + 3 + ey + 92+ (A —6)y+3=0
A.3/2
B.2/3
1

C. Em

D.none

Answer: A

o Watch Video Solution

3. The two conics ax? + 2hzy + by®> = ¢ and px® + 2key + qy = r

intersect in four concyclic points, then



https://dl.doubtnut.com/l/_nQ3JnZuGNaZm
https://dl.doubtnut.com/l/_FpLu8ycClhgi
https://dl.doubtnut.com/l/_ML9JOSLVpWhZ
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Answer: A

° Watch Video Solution

4. The equation of the circle passing through (4,5) having the centre at
(2,2) is

Az +y’ +4x+4y—5=0

B.al+y? —4dx —4y—5=0

Ca?+y? —4z =13

D.z’4+¢y? —4dz —4y+5=0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ML9JOSLVpWhZ
https://dl.doubtnut.com/l/_0QxLUypktTaA

5.Thelines 2 — 3y — 5 = 0 and 3z — 4y = 7 are diameters of a circle of
area 154( = 497) sq. units, then the equation of the circle is

Az +y® + 2z — 2y = 62

B.z? 4 y* + 2z — 2y = 47

Cz’+y? — 2z + 2y =47

D.:L‘2+y2—2a:+2y:62

Answer: C

o Watch Video Solution

6. If the lines 2z + 3y + 1 = 0and 3z — y — 4 = 0O lie along diameters of

a circle of circumference 10w, then the equation of the circle is

Azl4+y? —22+2y—23=0

Bzl +y? —2c —2y—23=0


https://dl.doubtnut.com/l/_0QxLUypktTaA
https://dl.doubtnut.com/l/_ufD20H8xumMf
https://dl.doubtnut.com/l/_5xXpwJohj7Lc

Cal4+y’+2x+2y—23=0

D.a?+y? +2c —2y—23=0

Answer: A

° Watch Video Solution

7. The point diametrically opposite to the point P(1,0) on the circle
22+  + 2z +4y—3=0is:

A. (3,-4)

B.(-3,4)

C.(-3,-4)

D.(3,4)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5xXpwJohj7Lc
https://dl.doubtnut.com/l/_ooHjIK53P48L
https://dl.doubtnut.com/l/_6VZ6PhISYNF1

8. The lines joining the origin to the points of intersection of the line
4z + 3y = 24 with the circle (z — 3)% 4 (y — 4)® = 25 are

A. coincident

B. perpendicular

C. make equal angle with axes

D. none

Answer: B

o Watch Video Solution

9. Centre of the circle 42> + 4y? — 10z + 5y = O'is


https://dl.doubtnut.com/l/_6VZ6PhISYNF1
https://dl.doubtnut.com/l/_KRj58WlMJWFA

Answer: C

° Watch Video Solution

10. Radius of the circle 922 + y? = 4(.7E2 — y2) — 8z is

3 oo ot o o
=)
I

Answer: B

° Watch Video Solution

1. Radius of the circle whose centre is on y-axis and which passes

through the points (5,2) and (7,-4) is


https://dl.doubtnut.com/l/_KRj58WlMJWFA
https://dl.doubtnut.com/l/_5wAqsBLH8cQ8
https://dl.doubtnut.com/l/_YxZXB0Qa61VZ

A. /5
B.2./5
C.3,5

D.none

Answer: B

o Watch Video Solution

12. Equation of circle , concentric with circle

z? + y? — 6z + 12y + 15 = 0 and of double its radius , is

A.3,/30
B.2,/30
C. /30

D.none

Answer: B



https://dl.doubtnut.com/l/_YxZXB0Qa61VZ
https://dl.doubtnut.com/l/_HpUY4vKbxAJP

| ° Watch Video Solution

13. The equation of normal to the circle
22 +y? —dr+4y—17=0

which passes through (1, 1) is

Adx+y—4=0

Answer: A

° Watch Video Solution

14. The values of \ for which the circle

2’ +y* + 6z +5+ )\(m2 +y* — 8z + 7) = 0 dwindles into a point are


https://dl.doubtnut.com/l/_HpUY4vKbxAJP
https://dl.doubtnut.com/l/_dTSyG5qCiUnK
https://dl.doubtnut.com/l/_kUuun2aDPP5B

3+4./2
A 3EN2
5 6 + 44/2

c 44 3,2

D.none

Answer: B

° Watch Video Solution

15. The area of circle centred at (1,2) and passing through (4,6) is

A bm

B. 107

C. 257

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kUuun2aDPP5B
https://dl.doubtnut.com/l/_QxnVrnjNotWU

m
16. Area of a circle in which a chord of length /2 makes an angle b at the
centre is

Am/4

B.m /2

Cm

D. 2w

Answer: C

o Watch Video Solution

17. Let C be the circle with centre C(0,0) and radius 3 units. The equation
of the locus of the mid-points of the chords of the circle which subtend

2
an angle of 5 at the centre is :

A.a:2—l—y2 =1


https://dl.doubtnut.com/l/_QxnVrnjNotWU
https://dl.doubtnut.com/l/_2jqpTHDAAAF3
https://dl.doubtnut.com/l/_5fI6pfBNlJhC

B.z? 4+ y* = 27/4
cz?+y®=19/4

D.z> +y®> =3/2

Answer: C

° View Text Solution

18. If 22 + pry + 2y> + (p — 4)z + 6y — 5 = 0 is the equation of a

circle, then its radius is

A.2,/3
B. 2/2

1
C. V2

D. none

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5fI6pfBNlJhC
https://dl.doubtnut.com/l/_3KZykACyNEYY

19. The equation (z° — a2)2 + (y* - 62)2 = 0 represents points which

are
A. collinear
B. lie on a circle centred at (0,0)
C.lie on a circle centred at (a,b)

D.none

Answer: B

o Watch Video Solution

20. Equations of circles which pass through the points (1,-2) and (3,-4) and

touch the x-axis is

Azl 4+ 1y +62+2y+9=0

B.z2 + 42 4+ 10z + 20y + 25 = 0


https://dl.doubtnut.com/l/_3KZykACyNEYY
https://dl.doubtnut.com/l/_UO4tc6wTiwqA
https://dl.doubtnut.com/l/_R4LbTC493dId

Cal+y?—6z+4y+9=0

D. none

Answer: B::C

° Watch Video Solution

21. A variable circle passes through the fixed A(p, g) and touches the x-

axis. Show that the locus of the other end of the diameter through A is

(x-p)"2 = 4qy.

A(z —p)* =4gy
2
B.(z —q)" = 4py

C.(y—p) =4gz

D.(y —q)° = 4pz

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_R4LbTC493dId
https://dl.doubtnut.com/l/_HJ8hG5alzrQs

22. Consider a family of circles which are passing through the point
(—1,1) and are tangent to x-axis. If (h, k) are the co-ordinates of the

centre of the circles, then the set of values of k is given by the interval (1)

1

A0<k<§
Bk >+
- 2

( top<l

2 - — 2
Dk < =
- 2
Answer: B

o Watch Video Solution

23. Three distinct point A, B and C are given in the 2-dimensional

coordinates plane such that the ratio of the distance of any one of them


https://dl.doubtnut.com/l/_HJ8hG5alzrQs
https://dl.doubtnut.com/l/_MXRiWkAlSrCC
https://dl.doubtnut.com/l/_xOFI7dlMzywT

1
from the point (1, 0) to the distance from the point (-1, 0) is equal to 3

Then, the circumcentre of the triangle ABC is at the point

()

B. (0, 0)

()

Answer: C

o Watch Video Solution

24. Consider two circles x4+ y?—4z—6y—8=0 and

2

z? + y? — 2z — 3 = 0 Statement 1: Both the circles intersect each other

at two distinct points. Statement 2 : The sum of radii of the two circles is
greater than the distance between their centers.

A. touch

B. cut


https://dl.doubtnut.com/l/_xOFI7dlMzywT
https://dl.doubtnut.com/l/_zCevyja3hIAM

C.one lies inside the other

D. do not intersect

Answer: B

° Watch Video Solution

25. Equation of the circle with centre on y-axis and passing through the
origin and (2, 3) is

Az +y? +13y=0

B.3z2 + 3y> — 13y = 0

Cx?+y?+13z+3=0

D.62% + 6y® — 13z = 0

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_zCevyja3hIAM
https://dl.doubtnut.com/l/_cBF0XLSYKCGU
https://dl.doubtnut.com/l/_VpREvn9UlWsj

26.Radius of a circle is 5. It cuts x-axis at two points at a distance 3 from

the origin. Its centre is

A (0, +4)
B.(0, £ 3)
C.(0, +5)

D. none

Answer: A

o Watch Video Solution

27. Equation of circle passing through the points (4, 3) and (2,5) and
touching the axis of y is

Ax?4+y?—20c —22y+121=0

B.z?+y? —4z —6y+9=0

Czl+y?—10c —6y+13=0


https://dl.doubtnut.com/l/_VpREvn9UlWsj
https://dl.doubtnut.com/l/_E1TfZwzREGuP

D.z?+ 3y +4z +6y+9=0

Answer: A::B

° Watch Video Solution

28.3z + 4y — 7 = 0 is common tangent at (1, 1) to two equal circles of

radius 5. Their centres are the points

A. (4,5),(-2,-3)

B. (4,-3), (-2, 5)

C.(4,-5),(-2,3)

D.none

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_E1TfZwzREGuP
https://dl.doubtnut.com/l/_nuebiQbsWmsr

29. The equation to a circle whose centre lies at the point (-2,1) and which
touches theline3xz — 2y — 6 = 0at (4,3) is
Az?+y’ +4x —2y—35=0
B.z’ +y® — 4z +2y+35=0
Ce’4+ ¢y’ +4x+2y+35=0

D.z’4+y* -4z —2y+35=0

Answer: A

o Watch Video Solution

30. The equation of the circumcircle of the triangle formed by the lines
y+ 43z =6,y — /3x=6and y=0 is

Az +y®> —4y=0

B.z’ +¢y>+4x =0

Cal+y?—4y—12=0


https://dl.doubtnut.com/l/_68UdyhFBR3Je
https://dl.doubtnut.com/l/_LMacn5rAWbZn

D.z? + y? + 4z = 12

Answer: C

° Watch Video Solution

31. If (-3,2) lies on the circle z® + y? + 29z + 2fy + ¢ = 0, which is
concentric with the circle z2 4 y* + 6z + 8y — 5 = 0,then cis

AN

B.—11

C.24

D.none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LMacn5rAWbZn
https://dl.doubtnut.com/l/_ycUGuvjNlang

32. Equation of the «circle concentric with the circle

z? 4+ y> — 3z + 4y — ¢ = 0 and passing through the point [(-1,-2) is

Az +y* —3x+4y—1=0
B.a’ +¢y> -3z +4y=0
Ce’4+y> -3 +4y+2=0

D. none of these

Answer: B

o Watch Video Solution

33. The radius of the circle passing through the point P (6,2), two of
whose diametersarexz +y =6and x + 2y = 4 is

A.10

B.2,/5

C.6


https://dl.doubtnut.com/l/_gWacWUNgtc7i
https://dl.doubtnut.com/l/_A7O3KSnJ5W6U

D.4

Answer: B

° Watch Video Solution

34.Find the equation of the circle which passes through the centre of the
circle z2 +y* 4+ 8z + 10y — 7 =0 and is concentric with the circle
222 + 2% — 8z — 12y —9 =0
2 2
A(z—4)"+(y—6)" =185
2 2
B.(x —2)" + (y — 3)” = 100
2 2
C(z—4)"+(y—3)" =128

D.none

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_A7O3KSnJ5W6U
https://dl.doubtnut.com/l/_SbGrhXKdIyPW
https://dl.doubtnut.com/l/_OU0ZhAGm4ib5

35. Centre of a circle is (2, 3). If the line 4+ y = 1 touches it, its equation
is

Azi+y—4dz—6y+4=0

B.z? +y? —4z —6y+5=0

Czl+y’—4z—6y—5=0

D. none of these

Answer: B

o Watch Video Solution

36. The equation of the image of the circle
z? + y2 + 16z — 24y + 183 = 0 by the line mirror 4z 4+ 7y + 13 = 0 is
Az’ +y?+32z —4y+235=0
B.a? +¢y>+ 32z +4y — 235 =0

Czl+y?+32x —4y—235=0


https://dl.doubtnut.com/l/_OU0ZhAGm4ib5
https://dl.doubtnut.com/l/_Tyhq2seGYahr

D.z2 + y® + 32z + 4y + 235 = 0

Answer: D

° Watch Video Solution

37.The circle whose centre is on the x-axis and the line4z — 3y — 12 =0
and whose radius is the distance between the lines 4z — 3y — 32 =0
and 4z — 3y — 12 = 0 has equation

Az +y*—6z—T7=0

Bz’ +y>—6x—8=0

Czl+y’ —6z—-9=0

D.none

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Tyhq2seGYahr
https://dl.doubtnut.com/l/_MQ8prNGke7WF
https://dl.doubtnut.com/l/_k7zQCvXcwd6q

38.The points (2,3), (0,2),(4,5) and (O,c) are coricyclic if the value of c is

A2

B.1

D.3

Answer: A::C

o Watch Video Solution

39. The circle passing through three distinct points (1k), (k, 1) and (k, k)

passes through the points

A (1))

B. (-1,-1)

C.(-1,1)

D. (1,-1)


https://dl.doubtnut.com/l/_k7zQCvXcwd6q
https://dl.doubtnut.com/l/_abwBHWWuoqFB

Answer: A

° Watch Video Solution

40. If the lines a1z + by + ¢ =0 and asx + byy + co = 0 cut the

coordinate axes in concyclic points, then

A ajay = b1b2
B. a1b1 = a2b2
C.al/az = bl/bz

D. none

Answer: A

° Watch Video Solution

41. If a circle passes through the points where the lines

3l — 2y —1=0and 4 — 3y + 2 = 0 meet the coordinate axes then


https://dl.doubtnut.com/l/_abwBHWWuoqFB
https://dl.doubtnut.com/l/_9RtcXDXRauiS
https://dl.doubtnut.com/l/_fZkYHGCowMqr

B.—1/2
c.1/2

D.1

Answer: C

° Watch Video Solution

42. Four distinct points (2, 3X), (1,0), (0, 1) and (0,0) lie on a circle for

A. all integral values of A
BO<AKI1
CA<O

D. only one value of A

Answer: D


https://dl.doubtnut.com/l/_fZkYHGCowMqr
https://dl.doubtnut.com/l/_JtOIjm9FlK7n

° Watch Video Solution

43.1f2*> + 3> + Az + (1 — M)y + 5 = 0 represents a circle whose radius

cannot exceed 5, then the number of integral values of A is

A 14
B.16
C.18

D.none

Answer: B

o Watch Video Solution

44.1f a chord of the circle 2 + y* = 8 makes equal intercepts of length a

on the coordinate axes then

Alal <8


https://dl.doubtnut.com/l/_JtOIjm9FlK7n
https://dl.doubtnut.com/l/_ebu8bHvnh5Ue
https://dl.doubtnut.com/l/_umWljSVX7BwL

B. |a| < 44/2
C.la| <4

D.|a| > 4

Answer: C

° Watch Video Solution

45.The position of point (1, 2) wrt. the circle 2 + y2 —2x+6y+1=0
is

A.inside

B. outside

C.on

D. none

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_umWljSVX7BwL
https://dl.doubtnut.com/l/_pkj83IuXNIDd

46.The line 3z + 5y + 9 = 0 wrt. the circle 22 +y?> — 4z + 6y +5=0
is

A. chord

B. diameter

C.tangent

D.none

Answer: B

o Watch Video Solution

47.Equation of a circle passing through origin is z* + > — 6z + 2y = 0.

What is the equation of one of its diameter ?

Ax+3y=20

Bz +y=0


https://dl.doubtnut.com/l/_pkj83IuXNIDd
https://dl.doubtnut.com/l/_ceiuemIuom9q
https://dl.doubtnut.com/l/_2FZDXXwTa0bw

Answer: A

° Watch Video Solution

48. Equation of the diameter of the circle 22 + y* — 2z + 4y = 0 which

passes through the origin is

Az +2y=20
B.z —2y =20
C2x+y=0
D.2z —y =0
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2FZDXXwTa0bw
https://dl.doubtnut.com/l/_zGZfjW0AAAOh
https://dl.doubtnut.com/l/_pJ5Uchgn6G1t

49. The end A of diameter AB of a circle is (1, 1) and B lies on the line

x + y — 3 = 0.The locus of the centre of the circle is

Ax—y=1

Bz +ty=1

C2z +2y—5=0

D.2z —2y—5=0

Answer: C

o Watch Video Solution

50. AB is a diameter of the circle > + y? = 4. If p; and p, be the lengths
of perpendiculars from A and B on the line z + y = 1, then maximum

value of p;p, is:

Al/2

B.7/2


https://dl.doubtnut.com/l/_pJ5Uchgn6G1t
https://dl.doubtnut.com/l/_imqpbLQhDAZL

C.1

D.2

Answer: B

° Watch Video Solution

51. If one end of a diameter of the circle z% + y2 —4xr —6y+11=0is
(3, 4), then find the coordinates of the other end of the diameter.

A (-1,-1)

B.(1,2)

C.(4,3)

D.none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_imqpbLQhDAZL
https://dl.doubtnut.com/l/_hHDTpYGxchUg
https://dl.doubtnut.com/l/_1AL8XeeFmKz5

52. Which of the following lines is a normal to the circle
(x— 1)+ (y—2)2 =10

A2c+y=3

B.z + 2y =10

Cz+y=13

Dz+y=3

Answer: D

o Watch Video Solution

53. If (x, 3) and (3,5) are the extremities of a diameter of a circle with

centre at (2, y), then the value of xand y are

Ax=1ly=4

B.x=4,y=1

C.x=8,y=2


https://dl.doubtnut.com/l/_1AL8XeeFmKz5
https://dl.doubtnut.com/l/_WNytxKTwDyjq

D. none of these

Answer: A

° Watch Video Solution

54. Equation of the circle having diameters 2z — 3y =5 and
3r — 4y = 7 and radius 8 is

Az?+y* —224+2y—62=0

Bzl +92+2z —2y+62=0

Col4+y’+22+2y—2=0

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_WNytxKTwDyjq
https://dl.doubtnut.com/l/_KBMyj5DIgO8D

55. The equation of the circle passing through the point (2, -1) and having
two diameters along the pair of lines 2x2 + 6y2 —zz+y—Tzy—1=0
is

Az?+y*+10c +6y—19=0

B.w? +y? 4+ 10z — 6y + 19 =0

Czl+vy*+10z+6y+19=0

D.none

Answer: A

o Watch Video Solution

56. Tangents drawn from the point P(1,8) to the circle

z? + y? — 6z — 4y — 11 = 0 touch the circle at the points A and B. The

equation of the circumcircle of the triangle PAB is:

Azl+y*+4z —6y+19=0


https://dl.doubtnut.com/l/_HCojbfCyTHK3
https://dl.doubtnut.com/l/_rGHN10h26AED

B.a?+y? —4x —10y+19=0
Czl+y* -2z +6y—29=0

D.z2 4+ ¢y? — 6z — 4y +19 =0

Answer: B

o Watch Video Solution

57. The co-ordinates of A and B are (z1,y;) and (x2,ys) and O is the
origin. If circles be described on OA, OB as diameters, then length of

common chord is

A (z1ys — z211) / AB
B. (z191 — z212) / AB
C.(z1y2 + z2y1) /AB

D. (z1y1 + z2y2) / AB

Answer: A

[ - 1


https://dl.doubtnut.com/l/_rGHN10h26AED
https://dl.doubtnut.com/l/_Bshca63P3GsP

| @ Watch Video Solution J

58. If the abscissa and ordinates of two points Pand( are the roots of
the equations z? + 2az — b*> = 0 and 22 + 2pz — ¢* = 0, respectively,
then find the equation of the circle with PQ as diameter.

Az +y* +2ax+2py—b—¢ =0

B.z? +y? — 2ax — 2py + b+ ¢* =0

Czl4+y> —2az —2py—b>2—¢* =0

D.z> + ¢y +2ax + 2oy + b +¢* =0

Answer: A

o Watch Video Solution

59. The centres of the circles z?+y?> — 6z —8y—7=0 and

2

z? + y?> — 4z — 10y — 3 = 0 are the ends of the diameter of the circles


https://dl.doubtnut.com/l/_Bshca63P3GsP
https://dl.doubtnut.com/l/_YfPmurB7170A
https://dl.doubtnut.com/l/_ffDzlPq2p8CL

Az?+y?—bzx—9y+26=0
B.z?+ 42 +5z —9y+14 =0
Cel+y’+b5z—y—14=0

D.z> + ¢y + 5z +y+ 14 =0

Answer: A

o Watch Video Solution

60. The lines joining the origin to the points of intersection of the line
4z + 3y = 24 with the circle (z — 3)° 4 (y — 4)® = 25 are

A. coincident

B. perpendicular

C. equally inclined to x-axis

D. none of these

Answer: B



https://dl.doubtnut.com/l/_ffDzlPq2p8CL
https://dl.doubtnut.com/l/_8Vm6Df5yUgKY

| o Watch Video Solution

61. Let PQandRS be tangent at the extremities of the diameter PR of a
circle of radius 7. If PSandR(@ intersect at a point X on the

circumference of the circle, then prove that 2r = ,/PQzRS .

A ./PQ. RS

8 PQ + RS
' 2

c 2PQ. RS
" PQ+ RS

PQ? + RS?
D. ,/#

Answer: A

o Watch Video Solution

62. The intercept cut on y-axis by the circle whose diameter is the line

joining the points (-4,3) and (12,1) is


https://dl.doubtnut.com/l/_8Vm6Df5yUgKY
https://dl.doubtnut.com/l/_tPIHvkWum0so
https://dl.doubtnut.com/l/_OOrD2EgMySly

A.2,/13
B.4,/13
C.64/13

D. none

Answer: B

o Watch Video Solution

63. Find the equation of the circle passing through the origin and the
points where the line 3z + 4y = 12 meets the axes of coordinates.
Azi+y’—42—3y=0
B+ y?> -3z —4y=0
Cz’+y’+4z—-3y=0

D.z2 +y? — 4z + 3y =0

Answer: A



https://dl.doubtnut.com/l/_OOrD2EgMySly
https://dl.doubtnut.com/l/_Aa6wVlEXmZVk

| ° Watch Video Solution

64. If a straight line through C( — /8, 1/8) making an angle of 135°
with the x-axis cuts the circle = 5cos 8, y = 5sinf in points A and B,

then the length of AB is

A.6

B.8

D. none

Answer: C

° Watch Video Solution

65. The vertices of a right angled triangle are A(2,-2), B(-2,1) and C (5,2). The

equation of circumcircle is


https://dl.doubtnut.com/l/_Aa6wVlEXmZVk
https://dl.doubtnut.com/l/_hBTuPA1v3Z9q
https://dl.doubtnut.com/l/_FE2m7e4mSqkK

Az—2)(z+2)+(y+2)(y+1) =0
B.(z+2)(z—5)+(y—1(y—2)=0
C(z—5)(r—2)+(y—2)(y+2)=0

D. none

Answer: B

o Watch Video Solution

66. A square is inscribed in the circle 2% +¢y> — 2z + 4y +3 =0 . Its

sides are parallel to the coordinate axes. One vertex of the square is

(1 +4/2, — 2) (b) (1 -2, - 2) (1, -2+ \/Q) (d) none of these

A(1++v2, -2
B.(1—+2, —2)
c.(1, —2++2)

D. none of these


https://dl.doubtnut.com/l/_FE2m7e4mSqkK
https://dl.doubtnut.com/l/_RALuVdYL4O9i

Answer: D

° Watch Video Solution

67. A  rectangle  ABCD is inscribed in the  circle
z? + y2 + 3x + 12y + 2 = 0. If the co-ordinates of A and B are (3,-2) and
(-2,0) then the other two vertices of the rectangle are

A. (-6,-10)

B. (-1,-12)

C.(1,12)

D. (6, 10)

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_RALuVdYL4O9i
https://dl.doubtnut.com/l/_nLVBFbghIs1q

68. A square is formed by following two pairs of straight lines
y®> — 14y + 45 = 0 and z? — 8z + 12 = 0 . A circle inscribed in it. The
centre of circle is :

A.(7,4)

B.(4,7)

C.(3,7)

D.(3/8,4)

Answer: B

o Watch Video Solution

69. A, B, C are three points on the unit circle z® +y*> =1 whose
parametric angles are 8, ¢ and ¥ respectively. Through a point P(-1,0) on

the circle chords PA, PB, PC are drawn whose lengths are in G.P. then

cosa cos¢ cos&p arein
279 Y


https://dl.doubtnut.com/l/_D2gTNg9bAvBu
https://dl.doubtnut.com/l/_Odz0GldlLtKx

A AP.

B. G.P.

C.H.P.

D. None of these

Answer: B

o View Text Solution

70. A square is inscribed in the circle z® + y* — 2z + 4y — 93 = 0 with
its sides parallel to the co-ordinate axes. The co-ordinates of its vertices
are

A. (-6,/9),(-6,5),(8,-9), (8,5)

B. (-6,9),(-6,-5),(8,-9), (8,5)

C. (-6,9),(-6,5), (8,9),(8,5)

D. (-6, -9),(-6,5), (8,-9), (8,-5)


https://dl.doubtnut.com/l/_Odz0GldlLtKx
https://dl.doubtnut.com/l/_ZtIUysNvdSGr

Answer: A

° View Text Solution

71. If «a,B,7 are the parameters of points AB,C on the circle

2?2 + y? = a? and if the triangle ABC is equilateral ,then

A Ycosa =0
B.Ysina =0
C.Ytana =0
D.Y¥cota =0
Answer: A::B

° Watch Video Solution

72. An isosceles triangle ABC with vertex at A(0,0) is inscribed in the circle

22 + y? = a’. If the base angles B and C be each 75°, then the co-


https://dl.doubtnut.com/l/_ZtIUysNvdSGr
https://dl.doubtnut.com/l/_zydiwFqZpkaq
https://dl.doubtnut.com/l/_POUtvbSJ9vpj

ordinates of B and C are

Aa3a
"\ 2 2

Answer: B::D

o View Text Solution

73.Two vertices of an equilateral triangle are (-1,0) and (1,0), and its third

vertex lies above the x-axis. The equation of its circumcircle is

2z
Az +y+ = —-1=0

V3

B.z2 + o2 — 2z —1=0
. Y ﬁ =

2
C.a:2—|—y2—|——y—1:0

V3

2 2 2y
Dz +y"—— —-1=0


https://dl.doubtnut.com/l/_POUtvbSJ9vpj
https://dl.doubtnut.com/l/_Cn4fKemHWUEd

Answer: D

° View Text Solution

74. (-1,2) is the vertex of an equilateral triangle whose centroid is (1, 1),
then the equation of its circumcircle is

Azl 4+ +224+2y—3=0

Bz’ + ¢y 42 —2y—3=0

Czl+y?—22—-2y—3=0

D.none

Answer: C

° Watch Video Solution

75. The equation of the circle inscribed in the triangle formed by the

coordinate axes and the lines 12z + 5y = 60 is :


https://dl.doubtnut.com/l/_Cn4fKemHWUEd
https://dl.doubtnut.com/l/_wxru1WpxneKR
https://dl.doubtnut.com/l/_GHQnw5pyBEys

Azl 4+ +4e+4y+4=0
B.z? +y? —dx —4dy+4=0
C.m2+y2—4m—4y—4:0

D. none

Answer: B

o Watch Video Solution

76. If the equation of incircle of an equilateral triangle s
22+ y? + 4z — 6y + 4 = 0, then the equation of circumcircle of the
triangle is

A(—-2, —-3),6

B.(—2,3),6

C.(2,3),6

D. none


https://dl.doubtnut.com/l/_GHQnw5pyBEys
https://dl.doubtnut.com/l/_XLsMVTTw7PZC

Answer: B

° Watch Video Solution

77. The triangle PQR is inscribed in the circle 22 + y? = 25. If Q and R

have co-ordinates(3,4) and(-4, 3) respectively, then ZQPR is equal to

o3 &3 w3 3

Answer: C

° Watch Video Solution

78. The vertices of a triangle ABC are the points (6,0),(0,6) and (7,7). The

equation of the circle inscribed in the triangle is


https://dl.doubtnut.com/l/_XLsMVTTw7PZC
https://dl.doubtnut.com/l/_Wd5jG6YWeCUN
https://dl.doubtnut.com/l/_0GbhCra8DhPh

Az?+y*—92 —9y+36=0
B.zl4+ 4> —92 -9y —36=0
Czl+y? -9z +9y+36=0

D.22 4+ 4> +92 — 9y +36=0

Answer: A

o View Text Solution

79.1f a square is inscribed in the circle 2% + y* 4+ 2gz + 2fy + ¢ = 0

then the length of each side of the square is

A.2r

B. 4r

C. \/§r

D.none

Answer: D



https://dl.doubtnut.com/l/_0GbhCra8DhPh
https://dl.doubtnut.com/l/_D9C7xuXNko15

| ° Watch Video Solution

80.If the origin lies inside the circle

x4+ y> + 29z + 2fy + ¢ = 0, then

5 "

3V3
47‘

C.3,/3r?

D. none

Answer: B

° Watch Video Solution

81. If the vertices of a triangle ABC are A( — 4, — 1), B(1, 2) and C (4, -3),

then the coordinates of the circumcentre of the triangle are,

A. (0, 2)


https://dl.doubtnut.com/l/_D9C7xuXNko15
https://dl.doubtnut.com/l/_4fYzPl2atFTr
https://dl.doubtnut.com/l/_z4pvITIF7cic

B. (0,-2)

C.(-2,0)

D.(2,0)

Answer: B

° Watch Video Solution

82. ABCD is a square of side a. The centre of the circle which circumscribes

the square on taking AB and AD as axes is

A (a, -a)
B. (-a, a)

C.(1/2,a/2)

D. none

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_z4pvITIF7cic
https://dl.doubtnut.com/l/_ZcKIXGdo5z7j

83. The equation of a circle with centre at origin and passing through the

vertices of an equilateral triangle whose median is of length 3a is
A.x2%—y2:: a
B.m2-+-y2:: 4a?
C.z? + y? = 9a°

D.none

Answer: B

o View Text Solution

84. A circle is inscribed in an equilateral triangle of side a- The area of any

square inscribed in this circle is

a2

3

. &
4


https://dl.doubtnut.com/l/_ZcKIXGdo5z7j
https://dl.doubtnut.com/l/_WZ72sIzCqd24
https://dl.doubtnut.com/l/_FRPrN4s4JJHf

c»|9N

D.none

Answer: C

o Watch Video Solution

85. The lines 3z — 4y + 4 = 0 and 3z — 4y — 5 = 0 are tangents to the
same circle. The radius of this circle is

A.9/5

B.9/10

C.1/5

D.1/10

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_FRPrN4s4JJHf
https://dl.doubtnut.com/l/_OsPvIhLt6Pcw
https://dl.doubtnut.com/l/_GDrnrzeHDPkS

86.If lines 3z —4y+4 =0 and 6z — 8y — 7 = 0 touch the same

circle , then its radius is

3 | w ix|w | w
>
I

Answer: B

o Watch Video Solution

87. Find the equation of the circle whose radius is 5and which touches
the circle 22 4+ y* — 2z — 4y — 20 = 0 externally at the point (5, 5).
A(z —9)°+ (y—6)° =5
B.(z — 9)* + (y — 8)° = 5

C(x—7°+(y—3)° =5


https://dl.doubtnut.com/l/_GDrnrzeHDPkS
https://dl.doubtnut.com/l/_NzWS57PLZYwG

D.none

Answer: B

° Watch Video Solution

88. Two circles each of radius 5 units touch each other at (1, 2). If the

equation of their common tangent is 4z + 3y = 10, then the centres of

the two circles are

A. (3,4),(-1,0)

B. (5,7),(-3,-3)

C. (5,5),(-3,1)

D. none of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_NzWS57PLZYwG
https://dl.doubtnut.com/l/_sADg6OBS1kyF
https://dl.doubtnut.com/l/_BH9tn0DRmyYR

89. The equation of the circle which has a tangent 2z —y—1=0at P
(3,5) on it and with centreonz +y — 5 = 0is

Az+y P +62—16y+28=0

B.z? +y? —6z+16y—28=0

Cal4+y’+6x+6y—28=0

D.z% 4+ y> — 6z — 6y — 28 = 0

Answer: A

o View Text Solution

90. Centre of the circle whose radius is 3 and which touches internally the

circle 22 + y? — 4z — 6y — 12 = 0 at the point (-1-1) is

42 72 )
Alz—2 L) =3
<"’ 5)+(y+5)

2 2

4 N\ .
B.<x+5)+(y—5) =3

2 2

4 7 ,
c(z-2 L) =3
(‘”” 5)+(y 5)


https://dl.doubtnut.com/l/_BH9tn0DRmyYR
https://dl.doubtnut.com/l/_cGdOUxA5QlBc

Answer: C

° Watch Video Solution

91. A square is inscribed in the circle 22 + y? — 10z — 6y + 30 = 0. One
side of the square is parallel to y = = + 3, then one vertex of the square
is

A (3,3)

B.(7,3)

C. (6,3 —/3)

D. (6,3 + /3)

Answer: A::B

o View Text Solution



https://dl.doubtnut.com/l/_cGdOUxA5QlBc
https://dl.doubtnut.com/l/_I4gxVNozK0bO
https://dl.doubtnut.com/l/_CsD94lqEjivf

92. The centres of the two circles each of radius 13-units and having a

common tangent 5z + 12y — 17 = 0 at (1, 1) are

A. (-6,-13) and (8, 15)

B. (6,13) and (-4,- 11)

C.(5,12) and (-3,-10)

D. none of these

Answer: B

o View Text Solution

93. A variable circle passes through a fixed point A(a,b) and touches the

axis of x. Locus of the other end of the diameter through A'is

A. circle

B. parabola

C.ellipse


https://dl.doubtnut.com/l/_CsD94lqEjivf
https://dl.doubtnut.com/l/_LcMRnrVnNeKf

D. none of these

Answer: B

° View Text Solution

94. A circle touches the x-axis and also touches the circle with centre (0,3)

and radius 2. The locus of the centre of the circle is :

A. hyperbola

B. parabola

C.an ellipse

D. a circle

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_LcMRnrVnNeKf
https://dl.doubtnut.com/l/_8wttyY0AXtY4

95. If the two circles 22 + y?> = 9 and 2% + y? — 8z — 6y + A% = 0 have

exactly two common tangents, then the number of integral values of A is

A.2
B.8
C.9

D.none

Answer: C

o View Text Solution

96. The number of integral values of A for which the equation
224+ 9>+ Az + (1 —XNy+5=0 is the equation fo a circle whose
radius cannot exceed 5, is 14 (b) 18 (c) 16 (d) none of these

A.18

B.16


https://dl.doubtnut.com/l/_WJqar9giDZfR
https://dl.doubtnut.com/l/_K5cg3fo6kCBo

D.none

Answer: B

° Watch Video Solution

97. Locus of a point which moves such that sum of the squares of its

distances from the sides of a square of side unity is 9, is

A. straight line

B. circle

C. parabola

D.none

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_K5cg3fo6kCBo
https://dl.doubtnut.com/l/_75HwMfD1a8fm
https://dl.doubtnut.com/l/_ZC5ZJsuAKAtC

98.The locus of a point which moves such that the sum of the square of

its distance from three vertices of a triangle is constant is a/an circle (b)

straight line (c) ellipse (d) none of these

A. circle

B. straight line

C.ellipse

D. none

Answer: A

o Watch Video Solution

99. The equation x = acosf + bsinf and

y =asinf — bcosh,0 < 6 < 27 together represent

A. parabola

B. straight line


https://dl.doubtnut.com/l/_ZC5ZJsuAKAtC
https://dl.doubtnut.com/l/_Al18G9XpMfEY

C.ellipse

D. circle

Answer: D

° View Text Solution

100. Locus of the centre of the circle which always passes through the

fixed points (a,0) and (-a,0) is

A X=

B.x+y=6

C.x+y=2a

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_Al18G9XpMfEY
https://dl.doubtnut.com/l/_DfuFrN9lBQEi
https://dl.doubtnut.com/l/_gIyiY7RL1AOH

101. Circles are drawn through the point (-5,0) to cut the x-axis on +ive

side and making an intercept of 10 units on x-axis. Locus of the centre of

such circles is

A. x=0

B.y=0

C. x+y=0

D. x-y=0

Answer: A

o View Text Solution

102. The equation 2% + y* + 4z + 6y + 13 = O represents

A. acircle
B. a pair of two distinct straight lines

C. a pair of coincident straight lines


https://dl.doubtnut.com/l/_gIyiY7RL1AOH
https://dl.doubtnut.com/l/_6FYiiB9e9yIs

D. a point

Answer: D

° View Text Solution

103. The equation 2+ +4z +6y+13=0 represents

A.circle
B. ellipse
C. pair of lines

D. no real curve

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6FYiiB9e9yIs
https://dl.doubtnut.com/l/_4b6QE9pmsDl3

104. The line joining (5, 0) to (10cos#, 10sin@) is divided internally in

the ratio 2: 3 at P then the locus of P is

A. a pair of straight lines

B. a circle

C.astraight line

D. none of these

Answer: B

o Watch Video Solution

105. Let AB be a chord of the circle 2% 4+ y? = r? subtending a right angle
at the centre. Then the locus of the centroid of the triangle PAB as P
moves on the circle is

A. a parabola

B. a circle


https://dl.doubtnut.com/l/_fkGvmbYb7XZk
https://dl.doubtnut.com/l/_hJ50mJ5qZ9nH

C. an ellipse

D. a pair of straight lines

Answer: B

o View Text Solution

106. The vcircles z?+1y>—40—81=0,22+vy*+24z—81=0

intersect each other at points A and B, a line through point A meets one
circle at P and a parallel line through B meets the other circle at Q. Then
the locus of the mid-point of PQ is

A(z+5)°+ (y+0)7> =25

B.(x —5)> + (y— 0)> =25

Cz?+y®>+ 10z =0

D.z2 + y* — 10z = 0

Answer: A::C



https://dl.doubtnut.com/l/_hJ50mJ5qZ9nH
https://dl.doubtnut.com/l/_7cgGrEkBIqbf

| ¥ VIEW IEXT Solution J

107. A line is drawn through a fixed point P(h, k) to cut the circle

2 + y2 = a® at A and B. Then PA, PB is equal to

A (h+ k)? — a?
B.h? 4 k* — a?
C.(h — k) + a?

D. none of these

Answer: B

o View Text Solution

108. If (2,5) is an interior point of the circle 22 + y? — 8z — 12y + k = 0
and the circle neither cuts nor touches any one of the axes of co-

ordinates, then

Ak € (36,47)


https://dl.doubtnut.com/l/_7cgGrEkBIqbf
https://dl.doubtnut.com/l/_PFwRDWd0eT5S
https://dl.doubtnut.com/l/_5UpgwNw19cYL

B.k € (16, 47)
C.k € (16, 36)

D. none of these

Answer: A

° View Text Solution

109. The point (), 4) lies outside the circles

S; = z? +3* + 10z = 0 and

Sy = 2% 4+ y? — 122 + 20 = 0 then )\ belong to
A(—o0, —8)U(—2 00)
B.(—8, —2)
C.(—o0, =8 U(—2,6)U(6,00)

D.none

Answer: C

[ -


https://dl.doubtnut.com/l/_5UpgwNw19cYL
https://dl.doubtnut.com/l/_mJ0cziNGCjbB

| @ View Text Solution J

110. The point on the circle z? + y? — 2z — 4y — 11 = 0 which is farthest

from the origin is

All+ 2+ 4
V5 B
B.|1+ 4 2+ 8
V5B
C.|2+ 8 1+ 1
V5B
D. none
Answer: B

° View Text Solution

M. The  co-ordinates of the point on the «circle

z? + y* — 122 + 4y + 30 = 0 which is farthest from the origin are

A. (8,5)


https://dl.doubtnut.com/l/_mJ0cziNGCjbB
https://dl.doubtnut.com/l/_K7xOoducqOQg
https://dl.doubtnut.com/l/_TmNBg2PZVlj7

B. (12, 4)

C.(9,3)

D. none

Answer: C

° View Text Solution

112. The circle z* + y? = 4x + 8y + 5 intersects the line 3z — 4y = m at
two distinct points if

A -3 <m<15

B.15 < m < 65

C.35 <m < 85

D.-8 <m< —35

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_TmNBg2PZVlj7
https://dl.doubtnut.com/l/_QovxueBKRIlI

113. If the equation x cosf + ysinf = p represents the equation of

common chord APQB of the circles 2?4+ =4a> and

z? 4 y*> = b*(a > b) then AP =

A.\/a2+p2+\/b2—l—p2
B.\/a2—i—p2—\/b2+p2
C.\/az—p2+\/b2—p2
D.\/a2—p2—\/b2—p2

Answer: D

o Watch Video Solution

114. The common chord of the circles z? + y?> — 4z — 4y = 0 and

2% 4+ y?> — 16 = 0 subtends at the origin an angle equal to

A.30°


https://dl.doubtnut.com/l/_QovxueBKRIlI
https://dl.doubtnut.com/l/_Fmhlb6hVFCxi
https://dl.doubtnut.com/l/_as8VadJzOoWu

B.45°

C.60°

D.90°

Answer: D

o Watch Video Solution

115. If the circles 22 + y? — 4z — 4y = 0 and 22 + y*> — 16 = 0 intersect
in two distinct points P and Q the then line 5x + by — a = 0 passes
through P and Q for:

A. infinitely many values of a

B. exactly two values of a

C. exactly one value of a

D. no value of a

Answer: D

[ - 1


https://dl.doubtnut.com/l/_as8VadJzOoWu
https://dl.doubtnut.com/l/_tpEw6DfnVYNP

| @ View Text Solution J

116. A diameter of z® + y*> — 2z — 6y + 6 = 0 is a chord to circle centre

(2, 1), then radius of the circle is

Al
B.2
C.3

D.4

Answer: C

° Watch Video Solution

117. Two circles touch the x-axis and the line y=mx. They meet at (9,6) and

117
at one more point and the product of their radii is — then the value of

m is


https://dl.doubtnut.com/l/_tpEw6DfnVYNP
https://dl.doubtnut.com/l/_VufJHnhRhSak
https://dl.doubtnut.com/l/_zxGTEtG7dd8a

D. None

Answer: C

o View Text Solution

118. Consider, Ly : 2z + 3y +p-3 =0, Ly: 2z + 3y + p+ 3 = 0, where p
is a real number, and C: z* + y? + 62— 10y + 30 = 0

Statement-l : If line L; is a chord of circle C, then line L, is not always a
diameter of circle C.

and

Statement-ll : If line L; is a diameter of circle C, then line L, is not a

chord of circle C.

o Watch Video Solution



https://dl.doubtnut.com/l/_zxGTEtG7dd8a
https://dl.doubtnut.com/l/_XzlWwgPUPnTO

Problem Set (1) (TRUE AND FALSE)

1. Circle on which the co-ordinates of any point are
{2+ 4cosf, — 1+ 4sin6} where 0 is parameter is

(z —2)°+ (y+1)° = 16.

o Watch Video Solution

2. The locus of the point of intersection of the lines

1+ ¢2 2at
r=a———,Y =
11—V 1w

is a circle of radius a,t being parameter. Is it

true or false ?

° Watch Video Solution

3. The equation z* + y% + 2z — 10y + 30 = 0 represents a circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_4QZS8bCzgUID
https://dl.doubtnut.com/l/_rerH0nL7fUQN
https://dl.doubtnut.com/l/_i5jk9AtUtDLp

Problem Set (1) (FILL IN THE BLANKS)

1. The equation of the circle which passes through the point (4, 5) and has

its centre at (2, 2) iS .veune.

° Watch Video Solution

2. A circle has radius 3 units and its centre lies on y = & — 1. If it passes

through the point (7, 3) its equation is .......

° Watch Video Solution

3. The parametric equations of the circle

2 +9y* + 2z + /3y =0are....

° Watch Video Solution



https://dl.doubtnut.com/l/_KUhRMEiEnR5i
https://dl.doubtnut.com/l/_WlPkzG2kQbwG
https://dl.doubtnut.com/l/_GxBBKXCaWmYM

4. The points of intersection of the line 4z — 3y — 10 = 0 and the circle

22 +y* — 2z + 4y — 20 = O are ... and ...

° Watch Video Solution

5.The extremities of the diameter of a circle are (1, 2) and (3, 4). Then its

centre is ... , radius ... and equation is ... .

° Watch Video Solution

6. How are the following points (0, 1), (3, 1) and (1,3) situated wrt. the

circlez® +y*> — 2z —4y+3 =0?

° Watch Video Solution

7.Radius of the circle (x — a)(z — b) + (y — p)(y — ¢) = Ois .......

° Watch Video Solution



https://dl.doubtnut.com/l/_E02lMEZXaME7
https://dl.doubtnut.com/l/_oWuXYkVQY6su
https://dl.doubtnut.com/l/_uJ91eYpUZfqT
https://dl.doubtnut.com/l/_xzCDblNIVEzK

8.The equation 222 + 2y*> — 6z + 8y + k = 0 represents a point circle if

k is equal to .........

o Watch Video Solution

9. If the two circle
2> +y? — 3z + ky — 5 = 0and

4z? + 4y2 — 12z — y — 9 = 0 are concentric, then : k=

o Watch Video Solution

10. The locus of a point which divides the join A(-1,]) and a variable point

on the circle % + y? = 4 in the ratio 3:2 is w......

o Watch Video Solution

Problem Set (2) (MULTIPLE CHOICE QUESTIONS)


https://dl.doubtnut.com/l/_xzCDblNIVEzK
https://dl.doubtnut.com/l/_q5wbP469cITX
https://dl.doubtnut.com/l/_P82X61XOYpY6
https://dl.doubtnut.com/l/_0VASxJSPaxi5

1. If the line lz + my = 1 be a tangent to the circle z? +y* = a?, then

the point (I, m) lies on

A. ellipse
B. parabola
C.circle

D.none

Answer: C

o Watch Video Solution

2. The equation of tangents drawn from the origin to the circle

2+ y? — 2rz — 2hy + A% = O are


https://dl.doubtnut.com/l/_eLnDlp5QwRdE
https://dl.doubtnut.com/l/_XaeHWrfmEUI2

D. (h2 — r2)a: + 2rhy =0

Answer: A::C

° Watch Video Solution

3. Find the angle between the two tangents from the origin to the circle
2 2
(z-7)"+(@y+1)" =25
Am/3
B.m/6
Cm/2

D.O

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XaeHWrfmEUI2
https://dl.doubtnut.com/l/_QdvovesuPe3b

4.The condition so that the line

(z + g)cosO + (y + f)sinf =k

is a tangent to 2° + 3> + 29z + 2fy + c = Ois
Ag i+ fP=c+ K
B.g> +fP=C+k
CP+ 2=+ K

D.g2 + f2=c+k

Answer: A

o Watch Video Solution

5.The angle between a pair of tangents drawn from a point T to the circle
z? + y2 + 4x — 6y + 9sin® o + 13cos’a = 0 is . The equation of the

locus of the point T is

Az +yP+4e—6y+4=0


https://dl.doubtnut.com/l/_VPz8iNsNUC9q
https://dl.doubtnut.com/l/_XCIUoj3yfvSK

B.z’ + > +4x —6y—9=0
Czl+y’+4z—6y—4=0

D.z?+y? +4zx —6y+9=0

Answer: D

° View Text Solution

6. From any point on the circle z? + y? = a® tangents are drawn to the

2

circle 22 + y? = a®sin® a. The angle between them is

Aa/2
B. o«
C. 2«

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XCIUoj3yfvSK
https://dl.doubtnut.com/l/_mB24Mdh5eqz0

7. If from any point P on the circle 22+ + 22z +2fy+c=0,
tangents are drawn to the circle
z? + 9% + 29z + 2fy + csin® o + (92 + f2)cos2a =0, then find the

angle between the tangents.

B. 2a
Ca/2

D.none

Answer: B

o Watch Video Solution

8.The angle at which the circle 2% + y* = 16 can be seen from the point

(8,0) is


https://dl.doubtnut.com/l/_mB24Mdh5eqz0
https://dl.doubtnut.com/l/_OmoBXJCuY0QG
https://dl.doubtnut.com/l/_KKvptakdhhPC

Am/6
B.w/4
C.m/2

D.7w/3

Answer: D

o Watch Video Solution

9.1f 3z + y = 0 is a tangent to a circle whose center is (2, — 1) , then

find the equation of the other tangent to the circle from the origin.

Az —-3y=0
Bz +3y=20
C33z—y=0
D.x +2y =20

Answer: A



https://dl.doubtnut.com/l/_KKvptakdhhPC
https://dl.doubtnut.com/l/_BbdQ48etWXhy

| ° Watch Video Solution

10. The length of the chord of the circle > + y* = 25 joining the points,

tangents at which intersect at an angle of 120° is

A.5/2
B.5
.10

D. none of these

Answer: B

° Watch Video Solution

1. If the two circles 22 +y? + 2z +2fy=0 and

z? + y* + 2g12 + 2f1y = 0 touch each other, then

Af+g'=f+a


https://dl.doubtnut.com/l/_BbdQ48etWXhy
https://dl.doubtnut.com/l/_p6bRb4YVomRp
https://dl.doubtnut.com/l/_dYXeUOO8Dtxc

B.ffi = 9o

Cflfi=9/mn

D. none of these

Answer: C

o Watch Video Solution

12. Aline meets the co-ordinate axes in A and B.A circle is circumscribed
about the triangle OAB. The distances from the end points of the side AB
to the line touching the circle at the origin O are equal to pand g

respectively. The diameter of the circle is
A.p(p+ q)
B.alp + q)
Cp+gq

1
D§@+®


https://dl.doubtnut.com/l/_dYXeUOO8Dtxc
https://dl.doubtnut.com/l/_0mXx1iGNCJHh

Answer: C

° View Text Solution

13. The tangent to the circle z? + y* = 5 at the point (1, — 2) also

touches the circle % + y? — 8z + 6y + 20 = 0 at the point

A (-2,1)
B.(-3,0)
C.(-1,-1)

D. (3,-1)

Answer: D

° Watch Video Solution

14.P and Q are two symmetrical points about the tangent at origin to the

circlez? + y?> — z + y = 0. 1f P be (-5,6), then Q is


https://dl.doubtnut.com/l/_0mXx1iGNCJHh
https://dl.doubtnut.com/l/_3W9xu7FnNVRR
https://dl.doubtnut.com/l/_DRzigYpWtz5v

A. (6, 5)

B. (5, 6)

C.(6,-5)

D. (-6, 5)

Answer: C

o Watch Video Solution

15. Equation of tangent to the circle 2% 4+ y? = 50 at the point where the

line z + 7 = 0 meets the circle

ATz +y=250
B.x + 7y = 50
Cx £+ 7y =50
D.7x +y = 50

Answer: D



https://dl.doubtnut.com/l/_DRzigYpWtz5v
https://dl.doubtnut.com/l/_ptXIYEa7P5zg

| ° Watch Video Solution

16.If z + y = 2 is a tangent to z? + y?> = 2, then the equation of the
tangent at the same point of contact to the circle

2 +y*+3c+3y—8=0is

Az —y=©6
B.x +y=26
Czt+y=2
D.none
Answer: C

° Watch Video Solution

17. To which of the following circles, the line y —  + 3 = 0 is normal at

the point (3 + 3/+/2,3/+/2)?


https://dl.doubtnut.com/l/_ptXIYEa7P5zg
https://dl.doubtnut.com/l/_lZAO1aagqnCg
https://dl.doubtnut.com/l/_bH49INpGHr7i

Az —3-3/v2)"+(y-3/v2) =9
8. (2 ~3/vD) + (y-3/v2) =9
Cal4+ (y—372 =9

D.(z —3)° +y*=9

Answer: D

o Watch Video Solution

18. The slope of the tangent at the point (h, h) of the circle 2 + y? = a?,

is
A.O
B.1
C.—1

D. Depends on h

Answer: C



https://dl.doubtnut.com/l/_bH49INpGHr7i
https://dl.doubtnut.com/l/_S6efEWmHVMP8

| ° Watch Video Solution

19. Find the equations of the tangents to the circle z + y? = 169 at

(5,12) and (12, — 5) and prove that they cut at right angles. Also find

their point of intersection.

A. parallel
B. perpendicular
C. coincide

D.none

Answer: B

° Watch Video Solution

20. Equation of a tangent to the circle 2% + y* = 25 passing through

(-21) is


https://dl.doubtnut.com/l/_S6efEWmHVMP8
https://dl.doubtnut.com/l/_F7ofdzJKH35U
https://dl.doubtnut.com/l/_fEA1DDfO85qD

Adz + 3y =25

B.3z + 4y = 38

C.24z — Ty + 125 =0

D. 7z + 24y = 230

Answer: A::C

o Watch Video Solution

21.If line 3z + y = 0 be a tangent to a circle drawn from origin to a circle
centred at the point (2,- 1) then the equation of other tangent through

the origin is

Az —-3y=0
B.z +2y =10
Cx+3y=0

D.3x —y=20


https://dl.doubtnut.com/l/_fEA1DDfO85qD
https://dl.doubtnut.com/l/_bV3c2cHIyw68

Answer: A

° Watch Video Solution

22. Tangents drawn froin the point' (43) to the circle
z? + y? — 2z — 4y = O are inclined at an angle

Am/6

B.m/4

cn/3

D.7/2

Answer: D

° Watch Video Solution

23. Tangents are drawn to the circle z? +y* — 2z — 4y — 4 = 0 from the

point (1, 7), then slopes are


https://dl.doubtnut.com/l/_bV3c2cHIyw68
https://dl.doubtnut.com/l/_OsubLv2z8iJz
https://dl.doubtnut.com/l/_oy1wlsNVSKaG

C1,2

D.3,0

Answer: A

o Watch Video Solution

24. If a > 2b> 0, then find the positive value of m for which

y=mz —by/1+m? is a common tangent to 2%+ y? =b> and

(z —a) +y* ="

2b
JZ—ap
Ny
2b
2b
"a—2b

A

B.

C

D.
a—2b



https://dl.doubtnut.com/l/_oy1wlsNVSKaG
https://dl.doubtnut.com/l/_6xhqOvbDQ6gt

Answer: A

° Watch Video Solution

25. The number of tangents that can be drawn from the point (8,6) to the
circle % + y*> — 100 = O'is

A.O

B.1

C.2

D. none

Answer: B

° Watch Video Solution

26. The number of tangents that can be drawn from the point (0,1) to the

circlez? +y? — 2z —4y = 0is


https://dl.doubtnut.com/l/_6xhqOvbDQ6gt
https://dl.doubtnut.com/l/_EY8UWUwTZ6y8
https://dl.doubtnut.com/l/_kx9vwOjSAnly

A0

B.1

C.2

D.none

Answer: A

o Watch Video Solution

27. The equation of the circle which has a tangent 2z — y — 1 = 0 at (3,
5) on it and with the centreon = + y = 5, is

Az+y P +62—16y+28=0

B.2% + y* — 6z + 16y — 28 = 0

Ca?+y’+6z+6y—28=0

D.z% 4 y> — 6z — 6y — 28 = 0

Answer: A



https://dl.doubtnut.com/l/_kx9vwOjSAnly
https://dl.doubtnut.com/l/_xLz3BiaScxU0

| ° Watch Video Solution

28. Equation of a circle touching the line |z — 2|+ |y—3| =4 is

(x —2)> + (y — 3)* = R* where R? =

A4

B.8

D.12

Answer: B

° Watch Video Solution

29. A variable circle always touches the line y-x=0 and passes though the
point (0,0), the common <chords of above «cirlce and
2 + 9>+ 6x +8 —7=0 will pass through fixed point , whose

coordinates are


https://dl.doubtnut.com/l/_xLz3BiaScxU0
https://dl.doubtnut.com/l/_EK9D8eTJXHVy
https://dl.doubtnut.com/l/_U0bhp4u8S2Iz

A (1,1)

B.(2,2)

C11
\2 2

D.none

Answer: C

o Watch Video Solution

30. A circle passes through the point (-1,7) and touches the line y = x at (1,

1). Its diameter is

A 42

B.5

C.5v/2

D.6

Answer: C



https://dl.doubtnut.com/l/_U0bhp4u8S2Iz
https://dl.doubtnut.com/l/_ai51Uia73GOM

| o Watch Video Solution

31. The equation of a circle which has its centre on the positive side of x-
axis and cuts off a chord of length 2 along the line /3y — z = 0 and also
touches the liney=xis

Az +y? —dz+1=0

B.al+y? —4dx+2=0

Ca?+y*—8+8=0

D.z?+y? -8z +4=0

Answer: B

o Watch Video Solution

32. The locus of the point of intersection of tangents to the circle
x = acosf,y = asinf at the points, whose parametric angles differ by

w/2,is


https://dl.doubtnut.com/l/_ai51Uia73GOM
https://dl.doubtnut.com/l/_OcZtIwpxpY49
https://dl.doubtnut.com/l/_LnQOzvujBLp4

A. straight line

B. circle

C.ellipse

D. none

Answer: B

o Watch Video Solution

33. If the tangent from a point P to the circle z? +3y2 =1 is
perpendicular to the tangent from P to 2% + y* = 3 then the locus of P is
a circle of radius

A4

B.3

C.2

D. none


https://dl.doubtnut.com/l/_LnQOzvujBLp4
https://dl.doubtnut.com/l/_UvUKf49OraKn

Answer: C

° Watch Video Solution

34. The locus of the point of intersection of tangents to the circle

2?2 + y? = a? at the points whose parametric angles differ by /3is
Az?+ y2 =a
B.z% + y? = 4a?
C.z? +y* = 4a®/3

D.z2 4+ 9> =9

Answer: C

° Watch Video Solution

35. The locus of the midpoint of the chord of the circle z? + y* = 4

which subtends a right angle at the origin is?


https://dl.doubtnut.com/l/_UvUKf49OraKn
https://dl.doubtnut.com/l/_YiSW4j7EK0mg
https://dl.doubtnut.com/l/_WnhuYy5zFrHX

Az?+y? =38
B.a:2+y2 =12
C.m2+y2 =16

D.z> +y* =43

Answer: A

o Watch Video Solution

36. If 0,1, 05 be the inclination of tangents with x-axis drawn from the
point P to the circle 22 + y?> = a?, then the locus of P, if given that

cot §; + cot By = cis

A.c(a:2 — az) = 2zy
B. c(:z:2 — az) = y2 —a?

C.c(y2 — az) = 2zy

D. none


https://dl.doubtnut.com/l/_WnhuYy5zFrHX
https://dl.doubtnut.com/l/_TyzCY69gwQKM

Answer: C

° Watch Video Solution

37. Locus of a point from which perpendicular tangents can be drawn to

2

the circle z2 + y? = a?is

A. circle through origin
B. circle of radius 2a
C. concentric circle of radius a+/2

D. none

Answer: C

° Watch Video Solution

38. Tangents are drawn from the point (17, 7) to the circle z? + y2 = 169.

STATEMENT-1: The tangents are mutually perpendicular.


https://dl.doubtnut.com/l/_TyzCY69gwQKM
https://dl.doubtnut.com/l/_gVSDCqfseTx4
https://dl.doubtnut.com/l/_o3rmVpQZEFF0

because
STATEMENT-2 : The locus of the points from which mutually perpendicular

tangents can be drawn to the given circle is 2% + y* = 338.

° Watch Video Solution

2

309. A chord AB of circe 2%+ y?=a? touches the circle

z? + y? — 2ax = 0.Locus of the point of intersection of tangens at A and
Bis :

Az?+y® = (z —a)’

B.z2 +¢° = (y — a)’

C.z? = ala — 2y)

D.y* = a(a — 2z)

Answer: A::D

o Watch Video Solution



https://dl.doubtnut.com/l/_o3rmVpQZEFF0
https://dl.doubtnut.com/l/_nUE3RqAKdtNP
https://dl.doubtnut.com/l/_lZLcImWHz14g

40. If the line & cos o + ysina = p and the circle 2% 4+ y? = a? intersect
at A and B then the equation of the circle on AB as diamerter is
Azl 4+ 1y +32—-3y—a’?+9=0
B.al+y? -3z +3y—a’+9=0
Cal4+y?+3z+3y—a®>+9=0

D. none of these

Answer: A

o Watch Video Solution

41. The intercept on the line y=x by the circle z% + y* — 2z = 0 is AB.
Equation of the circle on AB as diameter is:

A.m2+y2—x—y:0

Bzl+y’ —z+y=0

Cel+yi4+z+y=0


https://dl.doubtnut.com/l/_lZLcImWHz14g
https://dl.doubtnut.com/l/_N1PbFaGpeqSS

D.e’+ 3y’ +z—y=0

Answer: A

° Watch Video Solution

42. The length of tangent from the point(l, 2) to the circle

2z2 + 2> + 62 — 6y + 3 = 0is

A /3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_N1PbFaGpeqSS
https://dl.doubtnut.com/l/_G8P0tdmMj7QG

43. The area of the triangle formed by +ive x-axis and the normal and

tangent to the circle 2 + y® = 4at(1, /3) is

A /3

Answer: B

o Watch Video Solution

44, The number of common tangents to the circles
2 +9y? — 4z — 6y — 12 =0and 2% + y® + 6z + 18y + 26 = 0, is

A 12z +5y+19 =10

B.5z + 12y +19 =0

Cor — 12y +19=0


https://dl.doubtnut.com/l/_qKCdESO02Dg1
https://dl.doubtnut.com/l/_Tr1yHrUkpV49

D.12z — 5y + 19 = 0

Answer: B

° Watch Video Solution

45, The circles 24y +22 —4y+4=0 and
z? 4+ y> — 2z — 4y + 4 = 0 are such that they

A. touch internally

B. touch externally

C.intersect on axis of y

D. touch at (0, 2)

Answer: B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_Tr1yHrUkpV49
https://dl.doubtnut.com/l/_op1swXc5zzNy

46. The length of the chord joining the points ( 4cosf, 4sinf) and
[4cos(6 + 60°), 4sin(f + 60°)] of the circle > 4+ y* = 16is :

A 4

B.6

C.2

D.8

Answer: A

o Watch Video Solution

47. If the circle z? + y® + 29z + 2fy + ¢ = 0 is touched by y=x at P
such that OP = 64/2, then the value of c is

A.36

B. 144

C.72


https://dl.doubtnut.com/l/_LlyIZl9WIOR3
https://dl.doubtnut.com/l/_TxGLcyYLzQVO

D. none of these

Answer: C

° Watch Video Solution

48. Two tangents OA and OB are drawn to the circle
22 + y? + 4z + 6y + 12 = 0 from origin O. The circumradius of AOAB

is :

C.2

1
D. 513

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TxGLcyYLzQVO
https://dl.doubtnut.com/l/_ntwLcy98ceAX
https://dl.doubtnut.com/l/_J9hNha0P03Dr

49, Tangents are drawn to the circle > + y? = 25 from the point (13, 0).

They include an angle

5
Atan '—
a7

B.ta,n*ll—2

5
. 2tan'—
C.2tan D

D. none

Answer: C

° Watch Video Solution

Problem Set (2) (TRUE AND FALSE)

1. The straight line 7y — x = b touches the circle 22 +y> — 5z +5y=0

at (1, 2) then parallel tangent is 7y — = + 30 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_J9hNha0P03Dr
https://dl.doubtnut.com/l/_F6ROHCD8WEZ6
https://dl.doubtnut.com/l/_AcaIySQP5UJS

2.If the tangent from P to the circle > + y? = 1 is perpendicular to the
tangent from P to the circle 2 + y? = 3, then P lies on a circle of radius

2 concentric with the given circles.

° Watch Video Solution

Problem Set (2) (FILL IN THE BLANKS)

1. The equation of pair of tangents drawn from the point (0,1) to the circle

z? + y’— 2z + 4y = Ois-

o Watch Video Solution

2. The equation of tangent to the circle 22 + y? = a® which makes with

axes a triangle of area a’is :

o Watch Video Solution



https://dl.doubtnut.com/l/_AcaIySQP5UJS
https://dl.doubtnut.com/l/_wVprHaIRGddA
https://dl.doubtnut.com/l/_v6vQUUiee2Ju
https://dl.doubtnut.com/l/_FEwRKJQ28p3e

3. Find the equation of the tangents to the circle z° +3* — 22z —4 =0

which are (i) parallel (ii) perpendicular to the line 3x-4y-1=0

° Watch Video Solution

4. Equation of normal to the circle 2z® + 2y + 3z — 4y + 1 = 0 at (-1, 2)

° Watch Video Solution

5. The equation of the circle touching the lines y = x at a distance /2

units from the origin is ...

° Watch Video Solution

6. A circle of radius d with both co-ordinates of its centre positive,

touches the axis of x and the straight line 3y = 4x, Then its equation is ...

° Watch Video Solution



https://dl.doubtnut.com/l/_FEwRKJQ28p3e
https://dl.doubtnut.com/l/_GGy4ImGQuWNW
https://dl.doubtnut.com/l/_7wj1NLZgRNb9
https://dl.doubtnut.com/l/_p3F7CdzR2L3K

Problem Set (3) (MULTIPLE CHOICE QUESTIONS)

1. The circle 2% +9® + 4z — Ty + 12 =0 cuts an intercept on y-axis

equal to

Al

B.3

C.4

D.7

Answer: A

° Watch Video Solution

2. The intercepts made by the circle 2 + y? — 5z — 13y — 14 = 0 on the

x-axis and y-axis are respectively


https://dl.doubtnut.com/l/_p3F7CdzR2L3K
https://dl.doubtnut.com/l/_J5wKy61w9tXq
https://dl.doubtnut.com/l/_VNbGg36jcplg

A.9,13

B.5,13

C.9,15

D.none

Answer: C

o Watch Video Solution

3. Equation of the circle through origin which cuts intercepts of lengths a

and b on axes is
Azl+y +ax+by=0
B.2> +¢y> —az —by =0
Cz?+vyi+br+ay=0

D. none of these

Answer: B



https://dl.doubtnut.com/l/_VNbGg36jcplg
https://dl.doubtnut.com/l/_lEaFrwpxNtag

| ° Watch Video Solution

4. Circles are drawn through the point (2, 0) to cut intercept of length 5
units on the x-axis. If their centers lie in the first quadrant, then find their
equation.

Az?+y? - 92+ 2fy+14=0

B.3x2 + 3y% + 27z — 2fy+42=0

Ca?+vy> -9z —2fy+14=0

D.z?+y? —2fx —9y+14=0

Answer: C

° Watch Video Solution

5. Show that the circle 2 + y* — 2az — 2ay + a® = 0 touches both the

coordinate axes.


https://dl.doubtnut.com/l/_lEaFrwpxNtag
https://dl.doubtnut.com/l/_Z3prTATTuoCZ
https://dl.doubtnut.com/l/_7VfrqpulsMeS

A. x-axis

B. y-axis

C. both axes

D.none

Answer: C

o Watch Video Solution

6. The equation of circle through origin and cutting intercepts of lengths
2 and 3 from the positive sides of x and y axes is
Azl4+y?—22+3y=0
B.2> +¢y>+ 2z — 3y =10
Czl+y*—22—-3y=0

D. none

Answer: C



https://dl.doubtnut.com/l/_7VfrqpulsMeS
https://dl.doubtnut.com/l/_cGRzUzHglKof

| ° Watch Video Solution

7. Equations of circle which touch y-axis at (0, 3) and intercepts a length
of 8 units on the x-axis is

Azl +y?+10z —6y+9=0

B.z? +y*+ 6z —10y+9=0

Cal+y’+8+4y+2=0

D.z?+y? — 10z —6y+9=0

Answer: A::D

° Watch Video Solution

8. Tangent to the parabola y = 22+ 6 at (1, 7) touches the circle

z? + y? + 16z + 12y + ¢ = O at the point

A. (-6, -9)


https://dl.doubtnut.com/l/_cGRzUzHglKof
https://dl.doubtnut.com/l/_TtznkrPNZlYb
https://dl.doubtnut.com/l/_n4iQAoKDMykG

Answer: C

o Watch Video Solution

9. Find the equation of a circle which touches y — a€s at a distance of
4units from the origin and cutsan intercept of 6units along the positive
direction of z — aés-

Az?+y?+10z —8y+10 =0

B.z?+y?>+10z —8y+16=0

Czl+y?+10z +8y+16 =0

D.none

Answer: B

[ - 1


https://dl.doubtnut.com/l/_n4iQAoKDMykG
https://dl.doubtnut.com/l/_oKtVQk4EEGN0

| @J Watch Video Solution J

10. The equation of the circle touching the axis of x at the origin and the

linedx — 3y +24 =0is

A.(0,12),12

B. (0, -12), 12

C.(0,3),3

D. (0,-3),3

Answer: B::C

o Watch Video Solution

11. Find the equation of the circle which touches both the axes and the

straight line 4 + 3y = 6 in the first quadrant and lies below it.

Adx?+ 4y —dx —4y+1=0


https://dl.doubtnut.com/l/_oKtVQk4EEGN0
https://dl.doubtnut.com/l/_LKCKzR2hhrID
https://dl.doubtnut.com/l/_MUFJYws9a5JB

B.z> +¢y> — 6z —6y+9=0
Czl+y*—6z—y+9=0

D.4(z° +y* —z —6y) +1 =0

Answer: A

° Watch Video Solution

12. The equation of the circle passing through (2, 1) and touching co-
ordinate axes is

A+  —2c—-2y+1=0

Bal+ 1y’ +2x+2y+1=0

C.x2+y2—2x—2y—1=0

D2+’ +20+2y—1=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MUFJYws9a5JB
https://dl.doubtnut.com/l/_sNt5ALKBAllY

13. The equation of a circle passing through (3,6) touching both the axes
is

Azl +y?—6z—6y+9=0

B.z’+y>+6z—6y+9=0

C.z’>+y? +30x — 30y + 225 =0

D.22 +y*> — 30z — 30y + 225 =0

Answer: A::D

o Watch Video Solution

14.The equation of common tangent to the circles
z2y? + 14 — 4y + 28 = 0

and 22 + 9% — 14z + 4y — 28 = O'is


https://dl.doubtnut.com/l/_sNt5ALKBAllY
https://dl.doubtnut.com/l/_tn0YXQhDMc3t
https://dl.doubtnut.com/l/_JzIwdyS4mUtz

B.y=7

C7x —2y+14=0

D.2z — Ty + 14 =0

Answer: B

° Watch Video Solution

15. The equations of the circles which touch both the axes and the line x =

aare

2

A.m2+y2icm:|:cy+cz:0
2

B.a:2+y2+ca::|:cy+Z:0

C2

70

C.:v2+y2—czc:|:cy+

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_JzIwdyS4mUtz
https://dl.doubtnut.com/l/_aAcnm8HVdN7O

16. A circle of radius 5 units touches both the axes and lies in the first
quadrant. If the circle makes one complete roll on x-axis along the
positive direction of x-axis, then its equation in the new position is

A z? + y* + 20mz — 10y + 10072 = 0

B. 2% + y% + 207z + 10y + 10072 = 0

C.z? + y* — 20mz — 10y + 10072 = 0

D. none of these

Answer: D

o Watch Video Solution

17. The radius of a circle touching x-axis and having centre (2, 4) is

A2

B.4


https://dl.doubtnut.com/l/_aAcnm8HVdN7O
https://dl.doubtnut.com/l/_svHbP7agP3s3
https://dl.doubtnut.com/l/_eOPba2HT2fCg

C.6

D.none

Answer: B

o Watch Video Solution

18. If the circle z? + y2 + 2gx + 2fy + ¢ = 0 touches X-axis, then

D.none

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_eOPba2HT2fCg
https://dl.doubtnut.com/l/_Lr6GR8R8PeNn

19. The circle z? + y* — 2z + ¢ = 0 touches y-axis, then c =

Al

B.O

D.none

Answer: B

o Watch Video Solution

20. If the two straight lines 3x — 2y — 8 =0 and 2z —y — 5 = 0 lie
along two diameters of a circle which touches the x-axis then the
equation of the circle is

Az—2°+@y—1>2=1

B.(z +2)°+(y—1)% =1

C(zx—2°+(y+1)7°=1


https://dl.doubtnut.com/l/_1QtpUYZZIMcR
https://dl.doubtnut.com/l/_kISoJS88Knhk

D.none

Answer: C

° Watch Video Solution

21. Two circles 22 + y?> = 6 and 22 4+ y> — 6z + 8 = 0 are given. Then
the equation of the circle through their point of intersection and the
point (1,1) is

Az?+y? —6x+4=0

Bzl+y2—3z+1=0

Cax?+y —4y+2=0

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kISoJS88Knhk
https://dl.doubtnut.com/l/_j1qianmTXb7g
https://dl.doubtnut.com/l/_MK3ITRehVI7f

22. The equation of the circle passing through the intersection of the
circles
2?4+ y? —6z+2y+4=0
2 2 _

T 4+y +2x —-4y—-6=0
and having its centre on the line y=x is

A3(z*+y?) —5z —5y+2=0

B.7(2* +y*) — 10z — 10y — 12 =10

2 2 _
Cx+y —2z—-2y+1=0

D.2?+y? — 6z —6y+12=0

Answer: B

o Watch Video Solution

23. The equation of the circle having its centre on the line
x + 2y — 3 = 0 and passing through the points of intersection of the

circles 2?4+ y? -2z —4y+1=0andz®> +y> —4z —2y+4=0 s


https://dl.doubtnut.com/l/_MK3ITRehVI7f
https://dl.doubtnut.com/l/_eH4zEkcfP97v

2+ —6z+7=0 22 +y? —3y+4=0 C.
2 2 02 2 _
4y -2z —-2y+1=0z"+y " +2x -4y+4=0
Az’ +y?—6z4+7=0
B.x? +y2 —3y+4=0
2 2 _
Cx+y —2x—-2y+1=0

D.z> +y? — 2z —4y+4=0

Answer: A

o Watch Video Solution

24. Equation of the circle touching the circle 22 4+ y? — 15z + 5y = 0 at
the point (1, 2) and passing through the point (0, 2) is

A.13(z® + y?) — 13z — 61y + 70 = 0

B.x?+y? +2x =0

C.13(z* +¢*) — 13z — 6ly + 9 =0


https://dl.doubtnut.com/l/_eH4zEkcfP97v
https://dl.doubtnut.com/l/_99vUV5OWg6DE

D.none

Answer: A

° Watch Video Solution

25. The equation of the circle which passes through the origin and the
points of intersection of the circle 22+ y? = 4and thelinex +y = 2is
Az 4y = 4(z + )
B.z> +y* = 2(z +y)
Cz? 4y’ =3z +y)

D.a:2+y2 =(z +vy)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_99vUV5OWg6DE
https://dl.doubtnut.com/l/_fNv9D6htbDmE

26. The circle passing through the intersection of circle

2?4+ y? -3z —6y+8=0,224+y? -2z —4y+4=0 and touchng

thelinex + 2y =5is
Az +y* —x—2y=0
B.z? + ¢y =4
Czl4+y>+4=0

D.none

Answer: D

o Watch Video Solution

27. If the two curves
ax? + 2hxy + by® + 29x + 2fy+c =0 and dz® + 2h 2y + b’y  + 29’z -

intersect in four concylic points, then



https://dl.doubtnut.com/l/_w98xi2YAlGTI
https://dl.doubtnut.com/l/_0EfRC07qf7X8

a+b d+b

B. =
h h’

Ch(a—b)=h'(a’ +b")

D.h(a+b) = h'(a’ —b")

Answer: A

° Watch Video Solution

28. One of the limit point of the coaxial system of circles containing
2 2 _ 2 2 — 0
x*+y"—6bxr—6y+4=0,2"+y " —2¢z —4dy+3=20is
A (-1,1)
B.(-1,2)
C.(-2,1)

D.(-2,2)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0EfRC07qf7X8
https://dl.doubtnut.com/l/_cby7BL25BHPg

29. The four point of intersection of the lines
(22 —y+ 1)(x — 2y + 3) = 0 with the axes lie on a circle whose center
centre is at the point :

A (3/4,5/4)

B.(—7/4,5/4)

C.(2,3)

D.none

Answer: B

o Watch Video Solution

30. If the lines a;z + byy + ¢; = 0 and asx + byy + ¢co = 0 cut the co-

ordinate axes in concylic points, then

A. a1b1 = a2b2


https://dl.doubtnut.com/l/_cby7BL25BHPg
https://dl.doubtnut.com/l/_wucKdxfy7740
https://dl.doubtnut.com/l/_bwkdkdKTa7hd

B.al/a2 :bl/b2
C.al—l—a2 :b1—|—b2

D.ajas = b1b2

Answer: D

o Watch Video Solution

31.1If (E) + (£> =1 and (E) + (2) = 1 intersect the axes at four
a b c d

concylic points and a?+ =0+ d2, then these lines can intersect at,
(a,b,¢,d > 0)(1,1) (b) (1, —1) (2, —2)(d) (3,3)

A (1,1)

B.(1,-1)

C.(2,-2)

D. (3,-2)

Answer: A::B::C

[ - 1


https://dl.doubtnut.com/l/_bwkdkdKTa7hd
https://dl.doubtnut.com/l/_f9cQSjTe28Do

| @J Watch Video Solution J

32.If a, B, 7y, 6 be four angles of a cyclic quadrilateral taken in clockwise
direction then the value of (2 + Xcos a cos ) will be:

A.sin? o + sin® 8

B. cos?y + cos® §

C.sin® a + sin® 6

D. cos? 8 + cos? 7

Answer: A

o Watch Video Solution

33.P,Q,R and S are the points of intersection with the co-ordinate axes of

the lines ax+by = ab and bx + ay = ab then

A.PQ,R,S are concyclic


https://dl.doubtnut.com/l/_f9cQSjTe28Do
https://dl.doubtnut.com/l/_rpNrqU8Gi5X9
https://dl.doubtnut.com/l/_T4RtNn2ea5fw

B.P,Q,R, S form a parallelogram

C.P,Q,R,S form a rhombus

D. none of these

Answer: C

o Watch Video Solution

34. If the equation of a given circle is > + y? = 36, then the length of
the chord which lies along the line 3z + 4y — 15 = 0 is 3,/6 2. 2,/3 3.
6+/3 4. none of these

A.3,/6

B.2./3

C.6,/3

D. none of these

Answer: C

[ - 1


https://dl.doubtnut.com/l/_T4RtNn2ea5fw
https://dl.doubtnut.com/l/_iI9gw6xU8gJv

| @J Watch Video Solution J

35. The two lines through (2,3) from which the circle z? + y2 =25
intercepts chords of length 8 units have equations

A2x + 3y =13, x + by = 17

B.y = 3,12z + 5y = 39

Cx =29z — 11y =51

D. none of these

Answer: B

o Watch Video Solution

36. The common chord of z? 4 y* — 4z — 4y = 0 and z°® + 3* = 16

subtends at the origin an angle equal to

A /6


https://dl.doubtnut.com/l/_iI9gw6xU8gJv
https://dl.doubtnut.com/l/_RhzhBkUmFmkR
https://dl.doubtnut.com/l/_GYIZ4HRgEDov

B.m/4

cn/3

D.7/2

Answer: D

° Watch Video Solution

37. The length of the common <chord of the circles

(x—a)’+(y—b*=cand(z—b’+(y—a) =7is

A /& — (a —b)®
B. \/4c2 — 2(a — b)?
C. \/202 — (a —b)?

D. \/402 + (a — b)?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GYIZ4HRgEDov
https://dl.doubtnut.com/l/_Dy0QLKObnepW

38. Let Ly be a straight line passing through the origin and L, be the

straight line z4+y =1 |If the

2

x +y2

following equations can represent L;?

Answer: B::C

intercepts

made by the circle

—x+4+3y=0 on L; and Ly are equal, then which of the

o Watch Video Solution

39. Length of common

2+’ +ar+by+c=0and 2> +y*> +bx+ay+c=0is

chord

of

the

circles


https://dl.doubtnut.com/l/_Dy0QLKObnepW
https://dl.doubtnut.com/l/_pEcUOo6vPlMc
https://dl.doubtnut.com/l/_ZPOZKKy5E0Wt

N

| —
o
+
|l\3
s

(a —b)? — 4c

1
E(a +b)% +4c

o

Answer: B

o Watch Video Solution

40.The distance of the point (1, 2) from the common chord of the circles

22 +y? — 20 +3y—5=0,2> +y* + 10z + 8y — 1 =0is

Al
B.2
C.3

D.none

Answer: B


https://dl.doubtnut.com/l/_ZPOZKKy5E0Wt
https://dl.doubtnut.com/l/_3igH1m92hCJT

° Watch Video Solution

41. Radius of the circle with centre (3,1) and cutting a chord of length 6 on
the line 2z 4+ 5y + 18 = 0'is

A.6

B.7

C. /38

D.2,/5

Answer: C

o Watch Video Solution

42. The equation of the circle described on the common chord of the

circles 2 + 3* + 22 = 0and z? + y* + 2y = 0 as diameter, is

Azl 4+ i+ —y=0


https://dl.doubtnut.com/l/_3igH1m92hCJT
https://dl.doubtnut.com/l/_bIXj8g19ARxx
https://dl.doubtnut.com/l/_11KcCdobQ7kH

Bz’ +¢yl—z—y=0
Cxl+y —z+y=0

Dz’ +y +z+y=0

Answer: D

° Watch Video Solution

43. The intercept on the line y=x by the circle z? +y? — 2z = 0 is AB.
Equation of the circle with AB as a diameter is

A.m2+y2—ac—y:0

Bz’+y’ —z+y=0

Cel+yl+z—y=0

D2’ +y* +2z+y=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_11KcCdobQ7kH
https://dl.doubtnut.com/l/_1dgBGFgEp4Uk

44, Centre of a circle passing through point (0,1) and touching the curve

y=axat(2,4)is

A —16 27
' 5 710

D. none of these

Answer: C

o Watch Video Solution

45. A variable circle is described to pass through the point (a, 0) and

touch the line £ + y = 0. Locus of the centre of the above circle is

A. parabola

B. ellipse


https://dl.doubtnut.com/l/_1dgBGFgEp4Uk
https://dl.doubtnut.com/l/_KewyCOYNVbLo
https://dl.doubtnut.com/l/_07UQ14BNCI1X

C. hyperbola

D. none of these

Answer: A

° Watch Video Solution

46. The equation of tangent drawn from origin to the circle

z? + y* — 2ax — 2by + b® = 0 are perpendicular if

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_07UQ14BNCI1X
https://dl.doubtnut.com/l/_QLkcqMh93EPY
https://dl.doubtnut.com/l/_82AleRkkjqQ8

47. The equation of the circle passing through (2,0) and (0,4) and having
the minimum radius is

Azl 4+ +22+4y=0

B.a’ +¢y> —2x+4y=0

C.m2+y2—2m—4y:0

D.z? +y* 4+ 2z — 4y =0

Answer: C

o Watch Video Solution

48. The length of the chord joining the  points
(4cosa,4sina) and {4cos(a + 60°),4sin(a + 60°)} on the circle
22 +y® = 16is

A.2

B.3


https://dl.doubtnut.com/l/_82AleRkkjqQ8
https://dl.doubtnut.com/l/_9uqRvDgWSfGy

C.4

D.none

Answer: C

° Watch Video Solution

2

49, The line y = mx + ¢ intersects the circle z? +y? = a® in two

distinct real points if

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_9uqRvDgWSfGy
https://dl.doubtnut.com/l/_EeoSZf99al4F
https://dl.doubtnut.com/l/_V0xK6yii1eDv

50. If a circle passes through the points of intersection of the co-ordinate
axes with the lines Ax —y+ 1 =0 and = — 2y + 3 = 0, then the value
of Ais

A2

B.1/3

C.6

D.3

Answer: A::B

o Watch Video Solution

51. A circle cuts the circles 2% 4+ y? = 4
z? + y? — 6z — 8y + 10 = 0 and

2 2 _
T 4+y +2x—-4y—2=0

at the ends of diameter. The co-ordinates of its centre are

A (23)


https://dl.doubtnut.com/l/_V0xK6yii1eDv
https://dl.doubtnut.com/l/_PemSvrj8MEtw

B. (-2,-3)

C.(4,6)

D. (-4, -6)

Answer: A

° Watch Video Solution

52. Two parallel chords of a circle of radius 2 are at a distance /3 + 1
T 2w
apart. If the chord subtend angles - and = at the center, where k > 0

, then the value of [K] is

° Watch Video Solution

53. If P and Q are the points of intersection of the circles
22+ 9>+ 3z +Ty+2p—5=0and 2 + y? + 2z + 2y + p*> = 0, then

there is a circle passing through P and Q and (1, 1) for


https://dl.doubtnut.com/l/_PemSvrj8MEtw
https://dl.doubtnut.com/l/_JZpcY3k2Y1v4
https://dl.doubtnut.com/l/_YZcTxZBnbvOX

A. exactly one value of p

B. all values of p

C. all except one value of p

D. all except two values of p

Answer: D

° Watch Video Solution

Problem Set (3) (TRUE AND FALSE)

1. If the line z cos o + ysina = p cuts the circle 2 + y?> = a® in M and

N, then the equation of the circle on MN as diameter is

2 4y — a® = 2p(z cos a + ysina — p)

° Watch Video Solution



https://dl.doubtnut.com/l/_YZcTxZBnbvOX
https://dl.doubtnut.com/l/_sfYbfb6aB64V

2. The equation of the circle passing through (1, 1) and the points of
intersection of the circles 22 +y* + 132 -3y =0 and

2x? + 2y% + 4z — Ty — 25 = Ois 4z + 4y> + 13z — 30y — 25 = 0.

o Watch Video Solution

3. The point (-a, - a) lies on the circle passing through the origin and the

point of intersection of the straight line z 4+ y 4+ a = 0 with the circle

o Watch Video Solution

Problem Set (3) (FILL IN THE BLANKS)

1. Circle through the point M (5, 4) and touching x-axis at L (2,0) is ..........

° Watch Video Solution



https://dl.doubtnut.com/l/_whhRPBTjzFqD
https://dl.doubtnut.com/l/_RrfPavCbQ3Ms
https://dl.doubtnut.com/l/_r8cHToVE8yco
https://dl.doubtnut.com/l/_xatoHaRXq5EV

2. The equation of circle of radius 5 in the first quadrant which touches x-

axis and the line 4y = 3x is .......

° Watch Video Solution

3. The equation of the circle inscribed in the triangle formed by line

xr=0,y=0,3z —4y + 6 = Ois .........

° Watch Video Solution

4. If the line 4z + 3y + A = 0 touches the circle 2z + 2y* — 5z = 0,

° Watch Video Solution

5. A circle lies completely in the third quadrant and touches both the

axes, its radius is given to be 7. Its centre is ...

| ° Wiak A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_xatoHaRXq5EV
https://dl.doubtnut.com/l/_NxT5rrJBH2vG
https://dl.doubtnut.com/l/_peurIF2G1A5e
https://dl.doubtnut.com/l/_xleJK2twVnt4
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6. Centre of the circle which touches the lines x=0,y=0and 3z + 4y = 5

° Watch Video Solution

7. A circle cuts an intercept of length 12 units from the x-axis and its

centre lies at the origin. Its equation is ...

° Watch Video Solution

8. The equation of the circle which passes through the intersection of
circle 22 4 3> + 4(z + y) + 4 = 0 with the line z + y + 2 = 0 and has

its centre at the origin is ...

° Watch Video Solution



https://dl.doubtnut.com/l/_xleJK2twVnt4
https://dl.doubtnut.com/l/_fjYGQb2oFNc3
https://dl.doubtnut.com/l/_YbiJEzD04KVu
https://dl.doubtnut.com/l/_g2ZZ2eOFRO2i

9. The equation of the circle passing through the origin and the points of
intersection of the two circles

2’ +y’ —dr—6y—3=10,2"+9y’ +4x — 2y — 4 =0is

o Watch Video Solution

10. If the line £ — 2y = A cuts off a chord of length 2 from the circle

2+ y2 = 3,then the value of A = ...

o Watch Video Solution

1. The equation of the circle whose diameter is the common chord of the

circles (z — a)? + 3® = a®> and 22 + (y — b)® = b% is ...

o Watch Video Solution

Problem Set (4) (MULTIPLE CHOICE QUESTIONS)



https://dl.doubtnut.com/l/_vq8PkqJ4FLrw
https://dl.doubtnut.com/l/_A3OSJidK3wvG
https://dl.doubtnut.com/l/_5YOWM2zXKStj
https://dl.doubtnut.com/l/_syEQSAt8vO3I

1. The locus of the centre of a circle of radius 2 which rolls on the outside
of the circle z® + y2 +3z —6y—9=20is
Azi+y*+32—6y+5=0
B.a’ +¢y>+3z—6y—31=0
Ca?+y?+3c—6y+29/4=0

D. None

Answer: B

o Watch Video Solution

2.The locus of the centre of the circle which touches externally the circle

2

z? + y? — 6z — 6y + 14 = 0 and also touches the x-axis is given by the

equation

Az?—6x—10y+14=0

B.z2 — 10z — 6y + 14 = 0


https://dl.doubtnut.com/l/_syEQSAt8vO3I
https://dl.doubtnut.com/l/_aAMyoiE6AeUi

Cy>—6z—10y+14=0

D.y? — 10z — 6y + 14 = 0

Answer: D

° Watch Video Solution

3. The centre of a circle passing through the points (0, 0), (1, 0) and

touching the circle 2% + y* = 9, is

A (3/2,1/2)
B.(1/2,3/2)
c.(1/2,1/2)

D. (1/2, —21/2)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_aAMyoiE6AeUi
https://dl.doubtnut.com/l/_F85Fbaodz0Mf
https://dl.doubtnut.com/l/_tV3Mgybpury3

4.The equation of the circle having the lines z* + 2zy + 3z + 6y = 0 as
its normals and having size just suffcient to contain the circle
z(x —4) +yly—3) =0is

Azl+y?+3z—6y—40=0

B.z’ +3° +6x —3y—45=0

Czl+y?+8z+4y—20=0

D.z’+ 4y’ +4x+8y+20=0

Answer: B

o Watch Video Solution

5. The circles 22 + y? — 6z —2y+ 9 =0 and z? + y* = 18 are such

that they :

A. touch each other

B. intersect


https://dl.doubtnut.com/l/_tV3Mgybpury3
https://dl.doubtnut.com/l/_unXEiSIES1DM

C.one lies inside the other

D.none

Answer: C

° Watch Video Solution

6. If  the two circles a,(arz2 + y2) +bxr+cy=0 and

p(zrz2 + y2) + gx + ry = 0 touch each other then

Aa/p=0b/q
B.b/g=c/r
Ca/p=c/r
D. none
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_unXEiSIES1DM
https://dl.doubtnut.com/l/_XR6JFc0dpm5t
https://dl.doubtnut.com/l/_313h5FH6SdXC

7. Show that the circles z?+4+ 9> —10z+4y—20=0 and
z? + y? + 14z — 6y + 22 = 0 touch each other. Find the coordinates of
the point of contact and the equation of the common tangent at the
point of contact.

A. touch externally

B. intersect in real points

C.do not intersect

D. one is contained in the other

Answer: A

o Watch Video Solution

8.The two circles 22 + > — 5 = 0and z? + 3> — 22z — 4y — 15 = 0

A. touch each other externally

B. touch each other internally


https://dl.doubtnut.com/l/_313h5FH6SdXC
https://dl.doubtnut.com/l/_eajVweBDkR7W

C. cut each other orthogonally

D. do not intersect

Answer: B

o Watch Video Solution

9. Consider the circles 2% + (y — 1)> = 9, (z — 1)® + y? = 25. They are
such that these circles touch each other one of these circles lies entirely
inside the other each of these circles lies outside the other they intersect
at two points.

A. these circles touch each other

B. one of these circles lies entirely inside the other

C. each of these circles lies outside the other

D. they intersect in two points

Answer: B



https://dl.doubtnut.com/l/_eajVweBDkR7W
https://dl.doubtnut.com/l/_urIHsSV49Gup

| ¥ vvatch video sSolution J

10. Two circles 2% + y* — 2z — 4y = 0
andz® +9° — 8y —4=0

A. touch externally

B. touch internally

C. do not touch

D.none

Answer: B

o Watch Video Solution

11. The circle S (a1, by), 1 touches externally the circles Sy(as, by), 9. If

the tangent at their common point passes through origin, then

A (a? + a3) + (b3 + b3) = r? + 713


https://dl.doubtnut.com/l/_urIHsSV49Gup
https://dl.doubtnut.com/l/_nh2KnzI1WkbE
https://dl.doubtnut.com/l/_3TcVFWcFoUeL

8. (af — o) + (0] — 83) = rf — 13
C.(af —b) + (a3 +83) = rf + 73

D. (o] —4) — (af + ) = ri — 73

Answer: B

° Watch Video Solution

12. The circles 22 +y’ — 4z +6y+8=0 and
22 +y? — 10z —6y+14 =0

A. touch externally

B. touch internally

C.intersect

D. do not touch

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3TcVFWcFoUeL
https://dl.doubtnut.com/l/_PVLDfhZoSucc

13. Equation of a circle with centre (4,3) touching the circle z? + y2 =1is
Az +y* -8 —6y—9=0
Bz +9y? —8z —6y+11=0
Ca?+y -8 —6y—11=0

D.224+y> -8z —6y+9=0

Answer: C::D

o Watch Video Solution

14. Centre of the circle whose radius is 3 and which touches internally the
circle 22 + y2 — 4z — 6y — 12 = 0 at the point (-1-1) is

A5z2 + 5y + 8 — 14y — 16 =0

B.5x2 + 5y — 8z — 14y — 32 =0

C.5z% +5y2 —8x + 14y —4=0


https://dl.doubtnut.com/l/_PVLDfhZoSucc
https://dl.doubtnut.com/l/_R9AxWHQ6Z0I2
https://dl.doubtnut.com/l/_1HdF9pNa6r8a

D.5z? + 5y® + 8z + 14y + 12 =0

Answer: B

° Watch Video Solution

15. Equation of the circle touching the circle 2% + y* — 15z + 5y = 0 at (
1,2) and also passing through the point (0,2) is :

Az +y* —x—2y=0

B.x® +y* + 2z =0

C.13(z* +¢*) — 13z — 61y + 70 = 0

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1HdF9pNa6r8a
https://dl.doubtnut.com/l/_cZUC559zgp3s

16. If the circles (z — a)2 + (y — b)2 =c?and (z — b)2 + (y — a)2 =c

touch each other, then

Aa=0b=x2c
B.a =b+ +/2c
Ca=b=xec

D. none of these

Answer: B

o Watch Video Solution

17. The locus of centre of the circle which touches the circle

z? + (y — 1)2 = 1 externally and also touches x-axis is

A-{(ﬂc,:u):ff+(y—1)2 =4}U{(w,y)=y<0}
B. {(z,9):2” = 4y} U{(0,9):y < 0}

C{(z,y):2> =y} U{(0,y):y < 0}


https://dl.doubtnut.com/l/_1z08f6xwyWBi
https://dl.doubtnut.com/l/_6FlZJWOtGfVp

. {(2,5):2” = 4y} U {(z,5):y > 0}

Answer: B

° Watch Video Solution

18. The circle 2% + y? — 2az + ¢ = 0 and 2% + y? — 2by + ¢ = 0 will

touch each other externally if

11 1
hEeTwe T e
1 1 1
"ETe T @
1 —_
“2taTw®
D.none
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6FlZJWOtGfVp
https://dl.doubtnut.com/l/_7R9IVxnqsNSS

19. The circles z? + y2 +2x—-2y+1=0 and
z? + y2 — 2z — 2y + 1 = 0 touch each other

A. touch externally

B. touch internally

C.intersect on y-axis

D. touch at (0, 1)

Answer: A::D

o Watch Video Solution

20. Given the equation of two circles
22+ y? = 7% and z? + y* — 10z + 16 = 0. the value of r such that
they intersect in real and distinct points is given by

A2<r<s8

B.r=2o0rr=38


https://dl.doubtnut.com/l/_TxZHqf0YnsC4
https://dl.doubtnut.com/l/_8bsLvNdGtNVY

Cr<2orr>~8

D. none of these

Answer: A

° Watch Video Solution

21. If the two circles 2 +yP =4 and
2?2 +y? — 242z — 10y +a®> =0,a € I, have exactly two common

tangents then the number of possible integral values of a is :

A.O0

B.2

D.13

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8bsLvNdGtNVY
https://dl.doubtnut.com/l/_Z4Fb9JvHwJi8

22. If two circles (x—1)72+(y—3)72 =12 and
z? + y2 — 8z + 2y + 8 = 0 intersect in two distinct points , then
A2<r<s8
B.r=2
Cr<2

D.r > 2

Answer: A

o Watch Video Solution

23. The number of common tangents to the circles
2+ y? + 2z + 8y — 23 = 0 and

22+ y? —4x — 10y +9 = Oare

Al


https://dl.doubtnut.com/l/_Z4Fb9JvHwJi8
https://dl.doubtnut.com/l/_UO7g8QfmgFNW
https://dl.doubtnut.com/l/_GSEnz5txTYG1

B.2

C.3

D.4

Answer: B

° Watch Video Solution

24. The number of common

2 _z=0,22+y*+2=0is

:v2+y
A 2
B.1

C.4

D.3

Answer: D

tangents

to

the

circles

o Watch Video Solution



https://dl.doubtnut.com/l/_GSEnz5txTYG1
https://dl.doubtnut.com/l/_69EmogRbSjQ1

25. The number of common tangents to the circles
2 +y? =4 and z® +y* — 62 — 8y = 24is

A.O0

B.1

C.3

D.4

Answer: B

o Watch Video Solution

26. The number of common tangents of the circles z 4+ y* = 16 and

2?4+ 9y — 2y =0is :

A2

B.3


https://dl.doubtnut.com/l/_69EmogRbSjQ1
https://dl.doubtnut.com/l/_AvgPzLWz0gQp
https://dl.doubtnut.com/l/_0vgLDx3OFxKT

C.4

D.O

Answer: D

° Watch Video Solution

27. The common tangents to the circles z* 4 y*+ 2z =0 and
z? + y? — 6z = 0 from a triangle which is :

A. equilateral

B. isosceles

C.right angled

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0vgLDx3OFxKT
https://dl.doubtnut.com/l/_ajjmREPK7uxH
https://dl.doubtnut.com/l/_hthdu8yva7xq

28. The locus of the centre of the circles which touch both the circles
2 2 _ 2 2 2 _ i
z° +y° =a" and z° + y° = 4azx externally has the equation
A 12(z — a)® — 4y® = 34’
B.9(z — a)® — 5y? = 2a?
C.8z2 — 3(y — a)? = 9a?

D. none of these

Answer: A

o Watch Video Solution

29. A circle touches the x-axis and also touches the circle with centre (0,3)

and radius 2. The locus of the centre of the circle is

A. a circle

B. a parabola

C. an ellipse


https://dl.doubtnut.com/l/_hthdu8yva7xq
https://dl.doubtnut.com/l/_MAngaR2nGQBz

D. a hyperbola

Answer: B

° Watch Video Solution

Problem Set (4) (TRUE AND FALSE)

1. The circles

z? 4+ y? — 10z + 4y — 20 = 0 and z? + 3* + 14z — 6y + 22 = 0 touch

each other.

° Watch Video Solution

2. Point of contact is (10/13,9/13).

° View Text Solution



https://dl.doubtnut.com/l/_MAngaR2nGQBz
https://dl.doubtnut.com/l/_J2nIMSaefukc
https://dl.doubtnut.com/l/_JydBbRHBaNHA

3. Find the distance between the line 12z — 5y + 15 — 0 and the point

(4, 3).

o Watch Video Solution

4, The circles 22 +y? — 10z +4y—20=0 and

z? + y? + 14z — 6y + 22 = 0 touch internally.

o Watch Video Solution

Problem Set (4) (FILL IN THE BLANKS)

1. The circles 22 + y? + 2axz + ¢ = 0 and 2 + y? + 2by + ¢ = 0 touch

each other if ...

° Watch Video Solution

Problem Set (5) (MULTIPLE CHOICE QUESTIONS)



https://dl.doubtnut.com/l/_FndA2jAeq1EU
https://dl.doubtnut.com/l/_ILjmkXcaYFiS
https://dl.doubtnut.com/l/_602QUFXsGhIo

1. The locus of the mid-points of the chords of the circle
z? +y® + 4z — 6y — 12 = 0 which subtend an angle of 7 /3 radians at
its circumference is

A(z+2)°+(y—3)°=6-25

B.(zx —2)> + (y+3)°=6-25

Cz+2°+(y—37°=18-75

D.(z+2)%+(y+3>*=18-75

Answer: A

o Watch Video Solution

2. The equation of the locus of the mid-points of chords of the circle

2
42% + 4y® — 12z + 4y + 1 = 0 that substend an angle ?ﬂ- at its centre,

is

31
A dz? + 4y? — 12z + 4y + -~ =0


https://dl.doubtnut.com/l/_k5JOJ3cXIK6Y
https://dl.doubtnut.com/l/_VwyjQux3JhWU

27

B. 4z + 4y® — 12z + 4y + e =0
9 9 21
C.4z° + 4y —12:c+4y—|—T =0
D. none
Answer: A

o Watch Video Solution

3. The locus of the mid-point of the chords of the circle
z? + y% — 2z — 2y — 2 = 0 which makes an angle of 120° at the centre
is

A+  —2c—-2y+1=0

Bz’+ 4y’ +xz+y—1=0

C.x2+y2—2x—2y—1:0

D. none of these

Answer: A

[ - 1


https://dl.doubtnut.com/l/_VwyjQux3JhWU
https://dl.doubtnut.com/l/_WgTECltq8q6E

0 Watch Video Solution J

4. The locus of the mid-points of the chords of the circle
z? + y? — 2ax — 2by = 0 which subtend a right angle at the centre is
Aax +by=0
B.ax + by = a® + b
C.z? 4+ y? = a® + b

D. none of these

Answer: D

o Watch Video Solution

5.The locus of the midpoint of the chord of the circle z* + y* = 4 which

subtends a right angle at the origin is?

Az +y=2


https://dl.doubtnut.com/l/_WgTECltq8q6E
https://dl.doubtnut.com/l/_NBjeenPxSxRs
https://dl.doubtnut.com/l/_rA9z4ySMAmex

B..7132—i—y2 =1
C.x2+y2 =2

Dz +y=1

Answer: C

° Watch Video Solution

6. Locus of the mid-points of the chords of the circle 22 + y? = a? which
are always at a constant distance from the centre is

A. parabola

B. ellipse

C.circle

D.none

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_rA9z4ySMAmex
https://dl.doubtnut.com/l/_cx8AnGljFNpP

7. The coordinates of the middle point of the chord cut-off by
2z — 5y + 18 = 0 by the circle z? + 3*> — 6z + 2y — 54 = 0 are (1, 4)
(b) (2,4) (c) (4,1) (d) (1, 1)

A (1,4)

B.(2,4)

C.(4))

D. (1,1)

Answer: A

o Watch Video Solution

8. A variable chord is drawn through the origin to the circle
z? + y2 — 2ax = 0. The locus of the centre of the circle drawn on this

chord as diameter is


https://dl.doubtnut.com/l/_cx8AnGljFNpP
https://dl.doubtnut.com/l/_uNBUq3pTjA7I
https://dl.doubtnut.com/l/_JLBrShEkK1QT

Az +y’+azx=0
B.z2 +¢*> —az = 0
Cz’+y +ay=0

D.z> +y* —ay =0

Answer: B

o Watch Video Solution

9. Locus of the middle points of the chords of the circle

2

z? + y? — 2z — 6y — 10 = 0, which passes through origin is

Azl4+y -2z —-3y=0
Bz’ +¢y -2z —3y=0
C.x2+y2—3x+y=0

D.z’4+ ¢y +3z—y=0

Answer: B



https://dl.doubtnut.com/l/_JLBrShEkK1QT
https://dl.doubtnut.com/l/_iwTIPrlT0yIn

| o Watch Video Solution

10. If the circle z® + y? + 29z + 2fy + ¢ = 0 bisects the circumference
of the circle 22 + y* + 29’z + 2f 'y + ¢’ = 0, then the length of the

common chord of these two circles is

A24/g+ f —c

B.2\/g'2 +f% —c

C.2\/g2+f2+c

D. \/g'z + 2?2 4+¢

Answer: B

o Watch Video Solution

1. If two distinct chords, drawn from the point (p, q) on the circle

z? + y2 = pr + qy (where pq # ~ 0) are bisected by the x-axis, then


https://dl.doubtnut.com/l/_iwTIPrlT0yIn
https://dl.doubtnut.com/l/_zhsnkMHVjhmV
https://dl.doubtnut.com/l/_zAap3LHoH9b9

Answer: D

o Watch Video Solution

12. A chord of the circle 2% + y? = a? passes through a fixed point (2,3).
The chord which is farthest from the centre is

Az —2y+4=0

Bz —-—y+1=0

C3xz—y—3=0

D.2z +3y—13=0

Answer: D



https://dl.doubtnut.com/l/_zAap3LHoH9b9
https://dl.doubtnut.com/l/_4a9NDp4Nb7Hd

| ° Watch Video Solution

13. The equation of the diameter of the circle (z — 2)2 + (y + 1)2 =16
which bisects the chord cut off by the circle on thelinez — 2y — 3 = 0is
Az+2y=20
B.2r +y—3=0
C3z+2y—4=0

D.none

Answer: B

° Watch Video Solution

14. The pole of the straight line 9z 4+ y — 28 = 0 with respect to the

circdez? +y®> — 6z —8y+5=0is

A (3,1)


https://dl.doubtnut.com/l/_4a9NDp4Nb7Hd
https://dl.doubtnut.com/l/_jQ4eltjvpwUZ
https://dl.doubtnut.com/l/_DqNvGp6Bsgv7

B.(1,3)

C.(3,-1)

D. none

Answer: D

° Watch Video Solution

15. The pole of the line 3z +4y—45=0 wrt.

22 +y? — 6z —8y+5=0is

A. (3,4)
B. (6, 8)
C.(4,3)

D.none

Answer: B

the

circle

o Watch Video Solution



https://dl.doubtnut.com/l/_DqNvGp6Bsgv7
https://dl.doubtnut.com/l/_wJHPIKybQAuy

16. Polar of origin (0, 0) wrt. the circle z? + y2 + 2z +2uy+c=0
touches the circle 22 + ¢ = r* if

Ac= r()\z + uz)

B.r = c()\2 + ,u2)

c.ct=r? ()\2 + ;u2)

D.7? = ¢ ()\2 + /.I,2)

Answer: C

o Watch Video Solution

17.The chords of contact of tangents from three points AB,C to the circle

2

z? + y2 = a” are concurrent then the points A, B, C are

A. concyclic

B. collinear


https://dl.doubtnut.com/l/_wJHPIKybQAuy
https://dl.doubtnut.com/l/_j0nr7MkSWtJk
https://dl.doubtnut.com/l/_Czt42PicDgLF

C. vertices of a triangle

D.none

Answer: B

° View Text Solution

18. The chord of contact of tangents drawn from any point on the circle
z? +y? = a® to z? + y? = b%, touches the circle 2> +y?> =c*,a > b
then a,b,carein

A AP.

B. G.P.

C.H.P.

D. None

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Czt42PicDgLF
https://dl.doubtnut.com/l/_pa40doPHrnb2

19. If the tangents are drawn to the circle 2 4+ y* = 12 at the point
where it meets the circle 2 4+ y?> — 5z + 3y — 2 = 0, then the point of
intersection of these tangents is

A. (6,-6)

B. (6, 18/5)

C.(6, —18/5)

D. none of these

Answer: C

o Watch Video Solution

20. If O is the origin and OP, OQ are tangents to the circle
z? 4+ 9> + 29z + 2fy + ¢ = 0(c # 0), then the equation of the

circumcircle of the triangle OPQ is given by

Az? 4+ y?+ 29z +2fy =0


https://dl.doubtnut.com/l/_pa40doPHrnb2
https://dl.doubtnut.com/l/_O5zZFIx0khIq
https://dl.doubtnut.com/l/_d7C910LdXk2Q

Bz’ +y’—gr —fy=0
Cz’+yl+gz+fy=0

D. none of these

Answer: C

° Watch Video Solution

21. The distance between the chords of contact of the tangents to the

circle 2 + y* + 2gx + 2fy + ¢ = 0 from the origin and the point (gf) is
A g + f?

B.%(gz—kfz—l—c)
1¢>°+ f2+¢c

c.—-IT— —
2 V(9> + f2)
192+ f*—c

[p A —
2 V(g*+ f?)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_d7C910LdXk2Q
https://dl.doubtnut.com/l/_ovumZf716cUM

22. The area of the triangle formed by the tangents from the point (4,3)
to the circle 22 + y? = 9 and the line joining their points of contact in

sg. units is

A 132
" 25

B 162
" 25

c 192
" 25

D. none

Answer: C

o Watch Video Solution

23. Tangents are drawn from the point (a, a) to the circle
z? + y? — 2z — 2y — 6 = 0 If the angle between the tangents lies in the

™
range (3’ 7r>, then the exhaustive range of values of a is:


https://dl.doubtnut.com/l/_ovumZf716cUM
https://dl.doubtnut.com/l/_F09U9UmptQlq
https://dl.doubtnut.com/l/_lsfL1lrMZRCe

Answer: D

o Watch Video Solution

24. The chords of contact of the pair of tangents drawn from each point

on the line 2z + y = 4 to the circle 22 + y? = 1 pass through the point

A (1,2)

o (11
\274
C.(2,4)

D. none

Answer: B



https://dl.doubtnut.com/l/_lsfL1lrMZRCe
https://dl.doubtnut.com/l/_Q4y47DOIT5M0

| o Watch Video Solution

25. From the focus of the parabola y* = 8z, tangents are drawn to the
circle (z — 6)2 + y* = 4. The equation of the circle through the focus
and points of contact of the tangents is :
2 2 _
Az +y +8 —-12=0
2 2 _
Bz +y " —8 +12=0
2 2 —
Czi+y " +6x—-12=0

D.2?+ ¢y —6x+12=0

Answer: B

o Watch Video Solution

26.The line 9z + y — 28 = 0 is the chord of contact of the point P(h, k)

wirt. the circle 222 + 2y? — 3z + 5y — 7 = 0, then the point P is


https://dl.doubtnut.com/l/_Q4y47DOIT5M0
https://dl.doubtnut.com/l/_w1x7s6pTkqhc
https://dl.doubtnut.com/l/_wHtZF9j55aHy

A. (3,-1)

B.(3,1)

C.(3,)

D. none

Answer: D

o Watch Video Solution

27. Tangents drawn from the point P (1,8) to the circle

2

z? + y? — 6z — 4y — 11 = 0 touch the circle at the points A and B. The

equation of the circumcircle of the triangle PAB is
Az+y +42 —6y+19=0
B.a?+y? —4x —10y+19=0
Czl+y*—2z+6y—29=0

D.z2 4+ ¢y? — 6z — 4y +19 =0


https://dl.doubtnut.com/l/_wHtZF9j55aHy
https://dl.doubtnut.com/l/_yP1L3J8qFedc

Answer: B

° Watch Video Solution

28. A circle (7 of radius 2 wunits rolls outside the circle
Cy, = z° +4* + 4z = 0 touching it externally. The line joining their

centres makes an angle of 60° with x-axis.



https://dl.doubtnut.com/l/_yP1L3J8qFedc
https://dl.doubtnut.com/l/_DbTR9hhCOXwi

Answer following:

Locus of centre of outer circle C is ...

o Watch Video Solution

29. A circle C; of radius 2 units rolls outside the circle
Cy, = z° + 3® + 4z = 0 touching it externally. The line joining their

centres makes an angle of 60° with x-axis.



https://dl.doubtnut.com/l/_DbTR9hhCOXwi
https://dl.doubtnut.com/l/_4NIPR7Y7BCZj

Answer following:

The point of contact of the two circles and the centre of outer circle is ...

° Watch Video Solution

30. A circle C; of radius 2 wunits rolls outside the circle
Cy, = z° + 3® + 4z = 0 touching it externally. The line joining their

centres makes an angle of 60° with x-axis.


https://dl.doubtnut.com/l/_4NIPR7Y7BCZj
https://dl.doubtnut.com/l/_UqLlNAFOU5IP

Answer following:

Number of common tangents between the two circles is ...

o Watch Video Solution

3. A circle C; of radius 2 wunits rolls outside the circle

Cy = z? + y? + 4z = 0 touching it externally. The line joining their


https://dl.doubtnut.com/l/_UqLlNAFOU5IP
https://dl.doubtnut.com/l/_IsNrTOxAuye5

centres makes an angle of 60° with x-axis.

Answer following:

The equation of direct common tangents is ...

o Watch Video Solution

32. A circle C7 of radius 2 units rolls outside the circle

Cy = 2> + y? + 4z = 0 touching it externally. The line joining their


https://dl.doubtnut.com/l/_IsNrTOxAuye5
https://dl.doubtnut.com/l/_y1rUIwfuDW5v

centres makes an angle of 60° with x-axis.

Answer following:

The equation of transverse common tangent is ...

° Watch Video Solution

Problem Set (5) (FILL IN THE BLANKS)



https://dl.doubtnut.com/l/_y1rUIwfuDW5v

1. Locus of the middle points of the secants drawn through the point

2

(x1, 1) and intercepted by the circle z° + 3? = a? is .........

° Watch Video Solution

2.Llet ax + by + ¢ = 0 be a given line. From points on this line tangents
are drawn to 2> + y? = r?. Then the chord of contact of tangents passes

through a point ............

° Watch Video Solution

Problem Set (6) (MULTIPLE CHOICE QUESTIONS)

1. Given the circles 2 +y? -4z —5=0 and

2+ 9% + 62 — 2y +6 = 0.
Let P be a point («, B) such that the tangents from P to both the circles

are equal. Then


https://dl.doubtnut.com/l/_lYjXg09PSaXK
https://dl.doubtnut.com/l/_fxoaAl7SWyhW
https://dl.doubtnut.com/l/_BD03OMOeuyTT

A 2o+ 108 + 11 = 0

B.2a — 108+ 11 = 0

C.10a — 28+ 11 =0

D. 10 + 28 + 11 = 0

Answer: C

o Watch Video Solution

2. The locus of a point which moves so that the tangents from it to the
two circles a:2—}—y2 —533—3:0,3:1:2—}—3y2—}—2a:—}—4y—6:0 are
equal is.

A2 +2 +Tx +4y—3=0

B.17x +4y+3 =0

Cdz® +4y> -3z +4y—9=0

D.13z — 4y + 15 =0


https://dl.doubtnut.com/l/_BD03OMOeuyTT
https://dl.doubtnut.com/l/_CogKxUvM4P5w

Answer: B

° Watch Video Solution

3. Radical axis of the circles
22+ y?+6z—2y—9=0and 2+ y? — 2z +9y— 11 =0is:

A8z —1ly+2 =20

B.8c + 11y +2 =0

C8 +11ly—2=0

D.8z — 11y —2 =10

Answer: B

° Watch Video Solution

4, If the radical axis of the circles

22+ 1y + 29z +2fy+c=0and 222 +2y° + 3z + 8y +2c =0



https://dl.doubtnut.com/l/_CogKxUvM4P5w
https://dl.doubtnut.com/l/_OnMXN8DPGzgo
https://dl.doubtnut.com/l/_w2HeelAChhMx

touches the circle 2® + y* + 2z + 2y + 1 = 0, then

A.g=3/4 and f # 2
B.g#3/4 and f =2
Cg=3/4or f=2

D. none of these

Answer: C

o Watch Video Solution

5.The equation of the line passing through the intersection of the circles
322 +3y2 — 2z + 12y — 9 =0and z®> + y*> + 62 + 2y — 15 = O'is
A8 —10y—7=0
B.10x — 3y — 27 =0
C4zr +10y—5=0

D. none


https://dl.doubtnut.com/l/_w2HeelAChhMx
https://dl.doubtnut.com/l/_nhvsooNdYaO9

Answer: B

° Watch Video Solution

6. The equation z* + y% + 2gx + ¢ = 0 where g is a parameter and c is a
constant represents a family of coaxial circles any two members of which
have the radical axis

A. x-axis

B. y-axis

C. x=const.

D. y=const.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nhvsooNdYaO9
https://dl.doubtnut.com/l/_SPcQDStGOSgQ

7. The distance of the point (1, 2) from the radical axis of the circles
22+ +6x—16=0and 2> +y> — 22 + 6y — 6 =0is

A.3/5

B.4/5

C.7/5

D.none

Answer: C

o Watch Video Solution

8. The co-ordinates of the point from which the lengths of tangents to

the three circles
2 2 _ 2 2 _ 2 2 _

*+y " =Lz +y " +8 +15 =0,z + y° + 10y + 24 = 0 are equal

is

A. (-2,)


https://dl.doubtnut.com/l/_bKAxd1vCQwe6
https://dl.doubtnut.com/l/_HniPP7mT3K3r

B. (1,-2)
C.(2,3)

D.(—2, —5/2)

Answer: D

o Watch Video Solution

9. The co-ordinates of the point from which the length of tangents to the
circles

322+ 3y +4z — 6y —1=0,

20 + 2% — 3¢z —2y—4=0

and2m2+2y2—x+y—1=Obeequalis

A 10 14
"\ 21’ 63

B.(1,0)

c 10 31
"\ 21’ 63

D.none


https://dl.doubtnut.com/l/_HniPP7mT3K3r
https://dl.doubtnut.com/l/_nSBN1NCObMr5

Answer: D

° Watch Video Solution

10. The radical centre of three circles described on the three sides of a

triangle as diameter is the

A. orthocentre

B. circumcentre

C.incentre

D. centroid

Answer: A

° Watch Video Solution

1. The radical centre of the circle

22 +y? =12 +y* —2z=1and 2® +3° — 2y = lis


https://dl.doubtnut.com/l/_nSBN1NCObMr5
https://dl.doubtnut.com/l/_68qtYs40nvdc
https://dl.doubtnut.com/l/_GhXE5N3koJEA

A (1,1)

B.(2,2)

C.(0,0)

D. none

Answer: C

o Watch Video Solution

12. Length of tangent from the radical centre of the three circles
4y 4 —T7=0,2e2+22+3c+5y—9=0 and
22 + y? + y = 0to the second circle is

A.2

B.3

C.4

D. none


https://dl.doubtnut.com/l/_GhXE5N3koJEA
https://dl.doubtnut.com/l/_uIzDUJR6Wq88

Answer: A

° Watch Video Solution

13. Locus of the point from which the difference of the squares of lengths

of tangents drawn to two given circles is constant is

A. circle

B. parabola

C.straight line

D.none

Answer: C

° Watch Video Solution

14. The length of tangent from (51) to the «circle

22+ 9>+ 6z —4y—3=0is


https://dl.doubtnut.com/l/_uIzDUJR6Wq88
https://dl.doubtnut.com/l/_hNLIspriCXe8
https://dl.doubtnut.com/l/_FtdsbolmZfeh

A. 81

B. 29

C.7

D. 21

Answer: B

o Watch Video Solution

15. 224+ +2Xx+5=0 and z?+3y>+20y+5=0 are the
equations of two circles. P is any point on the line z — y = 0 from which
the lengths of tangents to the two circles are t; and t,. If t; = 3, then ¢,
is

A.3/2

B.3

C.6

D. none


https://dl.doubtnut.com/l/_FtdsbolmZfeh
https://dl.doubtnut.com/l/_N4cVfowkv7e3

Answer: B

° Watch Video Solution

16. If the tangent at the point p on the circle 2% 4+ y? + 6z + 6y = 2
meets the straight line 5z — 2y 4+ 6 = 0 at a point Q on the y-axis, then

the length of PQ is

A. 4
B.2,/5
C.5

D.3,/5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_N4cVfowkv7e3
https://dl.doubtnut.com/l/_aU7wMvqDQU8F

17. The lengths of the tangents from any point on the circle
1522 + 15y — 48z + 64y = 0 to the two circles
52 + 5y? — 24z + 32y + 75 =0 and
5z + 5y® — 48z + 64y + 300 = 0 are in the ratio

Al:2

B.2:3

C.3:4

D. none of these

Answer: A

o Watch Video Solution

18. The length of the tangent drawn from any point on the circle
S=z?+9y*>+2x+2fy+c=0 to the circle

S =2+ y* 4+ 29z + 2fy+ ¢’ = Owherec’ > cis


https://dl.doubtnut.com/l/_2zHmDEUS58N6
https://dl.doubtnut.com/l/_5IpnFLgiRttS

Answer: C

o Watch Video Solution

19. A and B are two points (0,0) and (3a,0) respectively. Points P and Q are
taken on AB such that AP=PQ=QB. Circles are drawn on AP, PQ and QB as
diameters. If T be the point from where the sum of the squares of the
lengths of tangents to these three circles be b? then locus of the point T
is

A z® 4+ y? —bax + 6a> — b =0

Bz +y?> —az — b2 =0

Cal+y? —3azx +2a2 - =0


https://dl.doubtnut.com/l/_5IpnFLgiRttS
https://dl.doubtnut.com/l/_MCFjrJRbtpuA

D.3(:132 —i—y2) —9az + 8% - =0

Answer: D

° Watch Video Solution

20. If the distances from the origin of the centres of the three circles

z2 + y2 —2X\iz = c2(i =1,2,3) are in G.P, then the lengths of the

2

tangents drawn to them from any point on the circle 2> + 3* = ¢? are in

A AP.
B. G.P.
C.H.P.

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MCFjrJRbtpuA
https://dl.doubtnut.com/l/_bYVu0T3PlkCO
https://dl.doubtnut.com/l/_xlkwuXIJLtSr

21. A pair of tangents are drawn from a point P to the circle 2> + y? = 1.
If the tangents make an intercept of 2 on the line x=1, the locus of P is

A. straight line

B. pair of lines

C.circle

D. parabola

Answer: D

o Watch Video Solution

22. A point P moves so that length of tangent from P to the circle
2 + y2 — 2x — 4y + 1 = 0O is three times the distance of P from (1, - 2).
Locus of Pis

A. straight line

B. circle


https://dl.doubtnut.com/l/_xlkwuXIJLtSr
https://dl.doubtnut.com/l/_FHLsNDpPTDVf

C. parabola

D. ellipse

Answer: B

° Watch Video Solution

23.22 + y? — 4z — 2y — 11 = O is a circle to which tangents are drawn
from the point (4, 5) which form a quadrilateral with a pair of radii. The
area of this quadrilateral in sq. units is

A 2

B.4

C.6

D.8

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FHLsNDpPTDVf
https://dl.doubtnut.com/l/_1R7TK8sHiKBg

24. Equation of the circle coaxial with the circles
202 +2° — 2 +6y—3=0and 22+ +4x +2y+1=0it being
known that its centre lies on the radical axis of the given circles is

Az +yP+2e+4y+2=0

B.3z2 + 3y + 7Tz + 8 —3=0

Cdr® +4° + 6z +10y—1=0

D. none

Answer: C

o Watch Video Solution

25. ABCD is a square of side length 2. C is a circle inscribed in the square
and () is a circle. circumscribing the square. P and Q are any two points
on C and Cs respectively. Also R is fixed point and L is a fixed line in the

same plane. A circle C touches line L and circle C; externally. S is a point


https://dl.doubtnut.com/l/_1R7TK8sHiKBg
https://dl.doubtnut.com/l/_0Cs8cxb2Ww9B
https://dl.doubtnut.com/l/_aldbwzLMTB3W

which is equidistant from given point Rand fixed line L. Point R coincides

with B.
PA2%2 + PB? + PC? + PD?

QA% + QB? + QC? + QD?

A1l

B.1.75

D.15

Answer: C

o View Text Solution

26. ABCD is a square of side length 2. C is a circle inscribed in the square
and () is a circle. circumscribing the square. P and Q are any two points
on C; and Cs respectively. Also R is fixed point and L is a fixed line in the
same plane. A circle C touches line L and circle C externally. S is a point
which is equidistant from given point Rand fixed line L. Point R coincides

with B.


https://dl.doubtnut.com/l/_aldbwzLMTB3W
https://dl.doubtnut.com/l/_AzhqZ61DhLPz

Let L be the line joining any two adjacent points of the square. The locus

of centre of this circle Cis :

A. parabola

B. ellipse

C. pair of straight lines

D. hyperbola

Answer: A

o View Text Solution

27. ABCD is a square of side length 2. (] is a circle inscribed in the square
and () is a circle. circumscribing the square. P and Q are any two points
on C and Cs respectively. Also R is fixed point and L is a fixed line in the
same plane. A circle C touches line L and circle C; externally. S is a point
which is equidistant from given point Rand fixed line L. Point R coincides
with B.

Line Lpasses through A and Cand a line parallel to AC passes through B. If


https://dl.doubtnut.com/l/_AzhqZ61DhLPz
https://dl.doubtnut.com/l/_HcQskVYe8vnh

the locus of S cuts this line at 2 points 7} and T3 and the diagonal BD at
T3, the area of triangle 111575 is :
A.1sq.unit
B. l sq. unit
2
C. 2 sq. units

D. 3 sq. units

Answer: A

° View Text Solution

Problem Set (6) (TRUE AND FALSE)

1.The line Az + By + C = 0, cuts the circle 2> + y> + az + by + ¢ = 0
in P and Q and the line A’z + B'y+ C’ =0 cuts the circle

22+ y? +dr+by+c =0inR andS. If the four points PQR,S are


https://dl.doubtnut.com/l/_HcQskVYe8vnh
https://dl.doubtnut.com/l/_Ek4JUwl6exPK

concyclic, then

7

a—a b—b c—c
D = A B C =0
A’ B’ C’

° Watch Video Solution

Problem Set (7) (MULTIPLE CHOICE QUESTIONS)

to both the circles

1. The equation of the circle orthogonal

2 +y? + 32z — 5y + 6 = 0 and 422 + 4y?> — 28z + 29 = 0 and whose

centrelieson 3z +4y+1=0is

1 29
A2+ +Zy— =0
z°+y +2y 1
B2’ 492+ oot 2 =0
2 4
7 3
C.az2+y2+§w+§y+5=0
D.none
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ek4JUwl6exPK
https://dl.doubtnut.com/l/_5HiTGpYb9YQ0

2. The equation of the circle which passes through the point (1, 1) and
cuts the circles 22 +9y? -8 —2y+16 =0 and
z? + y?> — 4z — 4y — 1 = 0 orthogonally is

Az +y?>+16z+12y+2=0

B.z2 +y? — 162z — 12y —2 =10

C.3(z2 +¢?) — 14z + 23y — 15=0

D.none

Answer: C

o Watch Video Solution

3. Equation of the circle cutting orthogonally the three circles
22 +y? 20 +3y—7=0,22+y?+5z —5y+9=0 and 2% + > + Tx

is


https://dl.doubtnut.com/l/_5HiTGpYb9YQ0
https://dl.doubtnut.com/l/_wRHGmLe1zmBp
https://dl.doubtnut.com/l/_y0St5FwQZ4Qb

Azl+y?—16c —18y—4=0
B.z? +y° —Tx +1ly+6=0
Cael+y*+22—8y+9=0

D. none of these

Answer: A

o Watch Video Solution

4. A circle passes through the origin and has its centre on y=x.
If it cuts 22 + y> — 4z — 6y +10=0 orthogonally, then the equation of
the circle is

Azl+y -z —y=0

B.al+y? —6x —4y=0

Cal4+y? -2 —2y=0

D.z? +4°> +22 +2y =0


https://dl.doubtnut.com/l/_y0St5FwQZ4Qb
https://dl.doubtnut.com/l/_n35gRhb7nmYu

Answer: C

° Watch Video Solution

5.Let px + qy + r = O where p, q, r are in AP. be normal to the family of
circles. The equation of the circle of the family which intersects the circle
w4y —de—4y—1=0 orthogonally is :

Azl+y?—224+4y—3=0

Bz’ + ¢y +2c —4y—3=0

Ce?+y—2c+4y—5=0

D.z?4+ ¢y —22 —4y+3=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_n35gRhb7nmYu
https://dl.doubtnut.com/l/_upnWumYTDMJm

6. The two circles z? +y? — 25 =0, and z? + y> — 26y + 25 = 0 are
such that they

A. touch

B. cut orthogonally

C.one is inside the other

D. none

Answer: B

o Watch Video Solution

7.1f the circles 2® + 4® + 2z + 2ky + 6 = 0and 2% + y* + 2ky + k= 0

intersect orthogonally, then k is

3
A 2 or -3
3
B—2 or —5
3
C.2 or —

2


https://dl.doubtnut.com/l/_7eVnQjSBk5a1
https://dl.doubtnut.com/l/_MOVOJzQYzoft

D.—2 or —

Answer: A

° Watch Video Solution

8. Thecirclez? + y?> + 4z + 6y —8=0andz®> +y>  + 6z —8y+c=0

cut orthogonally if c=

A 4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MOVOJzQYzoft
https://dl.doubtnut.com/l/_mgN8jdhrjXpM

9. If the circles of same radius a and centers at (2, 3) and 5, 6) cut
orthogonally, then find a-

A.3

B.2

C.1

D.O

Answer: A

o Watch Video Solution

10. (iii)If two circles cut a third circle orthogonally; then the radical axis of
two circle will pass through the center of the third circle .

A. 1st circle

B. 2nd circle

C.3rd circle


https://dl.doubtnut.com/l/_FFrLv2Ki75zR
https://dl.doubtnut.com/l/_JwYsvr4VZwAu

D.none

Answer: C

° Watch Video Solution

11. The centre of the circle S=0 lies on the line 2x-2y+9=0 and it cuts the
circle 2 + y* = 4 orthogonally . Show that S=0 passes through two fixed

points and find their coordinates.

A (1,1),(3,3)
B'(_ 1/2a1/2)a(_474)
C.(0,0),(5,5)

D.none

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JwYsvr4VZwAu
https://dl.doubtnut.com/l/_261YQb47WbbU
https://dl.doubtnut.com/l/_h6uzdrTYKLzM

12. Equation of the circle which passes through origin and whose centre
lies on the line z + y = 4 and cuts the circle z®> + y*> — 4z +2y+4 =0
orthogonally is

Azl+y?—6z—3y=0

B.al+y? —4dr —4y=0

Czl+y* -2z —6y=0

D. none

Answer: B

o Watch Video Solution

13. The circles z®> + y> + ¢ +y = 0 and z? + y*> +  — y = 0 intersect

at an angle of

Am/6

B.m/4


https://dl.doubtnut.com/l/_h6uzdrTYKLzM
https://dl.doubtnut.com/l/_EvrLSVyeqwf4

cn/3

D.7/2

Answer: D

° Watch Video Solution

14. The locus of the centre of the circle which cuts the circles
2+  + 202 +2fiy+c =0 and 2+ y*2gx +2fy+c =0
orthogonally is

A. an ellipse

B. the radical axis of the giverr circles

C. a conic

D. another circle

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EvrLSVyeqwf4
https://dl.doubtnut.com/l/_Nvor6E1cGwBT

15. The locus of the centre of a circle which touches the linez —2 =0

and cuts orthogonally the circle 2 + y?> — 20z + 4 = O/is

A.y% = 16z
B.z% = 16y
C.y? =16z + 4
D.z? = 16y + 4
Answer: A

o Watch Video Solution

16. If a circle passes through the point (1, 2) and cuts the circle

2+t =4 orthogonally then the locus of its centre is

A2c +4y—-9=0

B.2x +4y—1=0


https://dl.doubtnut.com/l/_Nvor6E1cGwBT
https://dl.doubtnut.com/l/_EL83CDwG5tln
https://dl.doubtnut.com/l/_Q6XL1umJFvbf

Cal4+y?—3z—8y+1=0

Dz’ 49y -2z —6y—7=0

Answer: A

° Watch Video Solution

17. If a circle passes through the point (a,b) and cuts the circle
z? + y* = 4 orthogonally, then locus of its centre is :

A 2ax + 2by + (a® +b* +4) =0

B. 2ax + 2by — (a2+b2+4) =0

C.2ax — 2by + (a2 +v? —|—4) =0

D.2ax—2by—(a2+b2+4) =0

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_Q6XL1umJFvbf
https://dl.doubtnut.com/l/_e6EZDELjq0lk
https://dl.doubtnut.com/l/_GQkbj6TOs1Ub

18. If a circle passes through the point (a,b) and cuts the circles
z? + y? = p? orthogonally then the equation of locus of its centre is :
Az + y* — 2ax — 3by + (a2 — b —p2) =0
B. 2ax + 2by — (a2 + b —l—p2) =0
C.z? +y® — 3ax — 4by + (a2+b2 —p2) =0

D.2ax + 2by — (a2—b2+p2) =0

Answer: B

o Watch Video Solution

19. x=1 is the radical axis of two of the circles which intersect orthogonally.

If the equation of one of the circles is 2 + y* = 4, then the equation of

the other circle is

Azl+y?—6z+4=0

B+ y? -8 +4=0


https://dl.doubtnut.com/l/_GQkbj6TOs1Ub
https://dl.doubtnut.com/l/_3RiZxlIKJAEb

Cal+y? —6y+4=0

D.z> + 4> —8y+4=0

Answer: B

° View Text Solution

20. The centre of the circle which intersects the three circles,
2+ +4r+7=0,22 4y’ +y=0and 22 + 2> + 3z +5y+9 =0
orthogonally is the point

A (2,1)

B.(-2,1)

C.(2,-1)

D. (-2,-1)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3RiZxlIKJAEb
https://dl.doubtnut.com/l/_tOPvgUoFnieD

21. If the chord of contact of tangents from a point P to a given circle
passes through @, then the circle on PQ as diameter. cuts the given
circle orthogonally touches the given circle externally touches the given
circle internally none of these

A. touches the given circle internally

B. touches the given circle externally

C. cuts the given circle orthogonally

D. none

Answer: C

o Watch Video Solution

22. The circles having radii ryandr, intersect orthogonally. The length of

2r17ry (b) Vrl2 +rl12 r1T9 d
V/r12 4+ r12 2r1r2 /r12 + r12

their common chord is

V/rl2 4+ rl12

T1T2


https://dl.doubtnut.com/l/_tOPvgUoFnieD
https://dl.doubtnut.com/l/_rij9IcdlKKft
https://dl.doubtnut.com/l/_j2H2eHskGh5a

2T1T2

2 2
T -+ T3

rir2

2 2
T+ T

2
2r{re

2 2
T +—r2

2
2r2r1

2 2
T +r2

Answer: A

° Watch Video Solution

23. The value of k so that z?’+ gy’ +kr+4y+2=0 and

2(x2-+-y2) — 4z — 3y + k = 0 cut orthogonally, is

A 10
3

—8
B. —

c —10
-3

D.1


https://dl.doubtnut.com/l/_j2H2eHskGh5a
https://dl.doubtnut.com/l/_z77jBsCD9JFW

Answer: C

° Watch Video Solution

Problem Set (7) (TRUE AND FALSE)

1. The lengths of tangents from a fixed point to three circles of coaxial

system are ty,%5,t3 and if P, Q, R be the centres, then

QRt? + RPt2 + PQt: = 0.

° Watch Video Solution

2. P, Q, R are the centres and ry, 79, 73 are the radii respectively of three

coaxial circles, then

QRr? + RPr? + PQr? = PQ. QR. RP

° Watch Video Solution



https://dl.doubtnut.com/l/_z77jBsCD9JFW
https://dl.doubtnut.com/l/_YwoXwyAV8ViB
https://dl.doubtnut.com/l/_iwZwz5fBy3ZT

3. Two circles 2?2+ 9’ + 22+ 2fiy+ ¢ = 0 and
22 + y? + 2gox + 2foy + ¢ = O intersect at an angle of 120° then
(29192 +2fifa—c1— )’ = (2 + 2 —c) (93 + f7 — ).

is this statement true or false?

o Watch Video Solution

Problem Set (7) (FILL IN THE BLANKS)

1. The angle at which the circles 22 +y>+82—2y—9=0 and

z? + y2 — 2x 4+ 8y — 7 = Ointersect is ...

° Watch Video Solution

2. The circles (z +a)® + (y + b)> = a® and (z + a)® + (y+ B)* = B2

cut orthogonally if ...

° Watch Video Solution



https://dl.doubtnut.com/l/_1hAaQE3RHAVp
https://dl.doubtnut.com/l/_q4N5dUEQvIsK
https://dl.doubtnut.com/l/_cXPM2VJJhQiu

MISCELLANEOUS EXERCISE (MATCHING ENTRIES)

List-1 (Equation of Circles) List-1I (Equalious)
(@) OAH where O i origin and A (3,0) and H (0,5 W x*+y —dx-8p+11=0
(b)) P3,4). Q1,2 ls diametas ()« + 5y’ - du-gy-8s=0
(6] Touches x-axis ot (3, 0) and makes a0 intercept of 8 an y-uxis. (i) = + y* - 3x-8y =0
() Paswes through | 4, 3) and contr Is (2, 2) fivl &' 4 y' -Bxz 10y 49 -0

o View Text Solution

List-I (Lines) l-ﬁl-llllli—II—J
(a) Tangont lox” + y* —x+ dy - 12= 0 which Is parallel il 2x+3y-13=0
fodx+dy +6=0
() Common chord of the circles x* + p¥ —fx+ 2y + 4 =0 and ) 4x+ap+19=0
o 4yt 10X - 12y + 40 =0 ~M=
¥ x4y -3=0
(¢) Chord of the circla x* + 3 = 25 whose mid-point Is (2. 3) (1) 3x+ 2y =13
() ‘Tangent al (3, 2 to the circle x* + " 403+ 4y - 30 =0 (v) 4x+7y -18=0

2. B

o View Text Solution

List-T {Langth) List-1
{a) Langth of common chord of the circles x* + y* 4+ dx =0y - 40 H 1s
andd x* +_v‘ ~x+hy+2=0
() Longth of the tasgenl drawn from {16, 7) o iy =

ulrcla ' b p? <= dy - 20 <0
(e} Longth of Intercapt on saxks by the circle x* or' +10x -Gy + 9 =0 (i 2
{d] Laagth of intercepi on the line 2x - Sy + 18 =0 by the circle liv) &
3 x‘d-_r' ~fix+2y-218 =0



https://dl.doubtnut.com/l/_cXPM2VJJhQiu
https://dl.doubtnut.com/l/_7GumHuqKPqWE
https://dl.doubtnut.com/l/_jClQUUbXwhUy
https://dl.doubtnut.com/l/_KErUbbaXtcWS

| ° View Text Solution

4.

List-1 [Locus) List-11 (Equations)
{n)  Locus of the polal of inlarsection of twa mutually M- ey-un'-18
L langents to circle x* + p? w0
{h]  Liwis of the patnt (2 + 4cos B, - |+ 4sin 8 a0« v -y, =0
(e} Locus of n point s.t. eatlo of its distence from i) =+ ! - 20’
lwo given prinis is constant &
1
{d) Tocus of the mid-potnts of the chords of the il ’,"-"‘"“lh_l:}”’ -0
1-k

cirele &* + ¢ =a® which passes through (x, . ¥, ]
where Zais distance along given points.

o View Text Solution

List-1 Listll
8} Taogemi tn[x—i]l +{¥ r].]: =1 i} Bx+7w+3
|b)  Chord of contact of point (6, 4) w.e.l. x® + p? +Ax+Oy -~ 19 =0 (i) 3x+4p -2
{c) Diameter of circle given in fa) fil) £+ y® —axioy s Co
4
(i) Circle touching both axes and the line x=c fiv) y=0

o View Text Solution



https://dl.doubtnut.com/l/_KErUbbaXtcWS
https://dl.doubtnut.com/l/_iD6rbDRLvcRf
https://dl.doubtnut.com/l/_Bd9xebutpGu7

List-I

If a clrele passes through the points (5,2) and (7, - 4) and is
cantro ling on y-axis, then its radivs is ..

(a]

() Tweo dlameters of o clecle passing through the point (6, 2) sre
x4+ y=0und x+ 2Ly = 4,then jts radiuvs is ...
[g] ‘Tho line 3x + 4y = 12 mests the axes in the points A and B.

List-11

L ey —dx-dy=n

T eER-4-11)

und O Is origin then the crcle QAR bs ... 1 =/3
(d} The centres of the two equal circles of radius 13 units und having
i comiemon angent at the point (1, 1) are .. 4. 5
{e) Tho equation x* + §* + 4x+8y + 13 =0 represents ... 5. Polmt(-2-3
{f) The angla at which the circle x* + y* = 16 s seen from the point
(8,01 ... 6 2.5
° View Text Solution
List-1 List-T1
(8] The slopes of tha tangeats drawn to the circle
x4 ¥% = 2x - 4y - 4=0 [rom the point (17 am ... 1. 7(x* +y?) =102 - 10§ ~12=0
(b) Equation of a circle which cuts an intercept
of length 8 units on x-axis and lonches y-axis at (0,3 is ... 3
{c] The equation of the circle passing through the
intersection of the circles x* + y* —6x+ 2y + 4=0,
x4 % +2x— 4y —6 =0 and having Its centre on the line v = xis 3. 1;’
(d} The vquation of the circle described on the common chord of the
circlas x* + v? #2x =0and 2* + ¥ + 2y = 0 as diametet is ... 4. eyt t10x-6y+9=0
{€) Iftheclrcles x* + y* - Zax+ ¢ =pand &* + p* -2y +c” =0
touch each other sxternally, then the required condition is ... 8. farlixeren
(f1 1f the clrcles of same radins a and centres at (2, 3) and (5 6) cut
orthogenally then a=... B Llehll-.l]_
a [

o View Text Solution

8. Consider the circle S = z? + y® + 4z + 6y — 19 = 0 and the

P(6, 4) outside the circle

point


https://dl.doubtnut.com/l/_rsygUUesZmnr
https://dl.doubtnut.com/l/_VwuHM4CCAC9u
https://dl.doubtnut.com/l/_xMhuoIsDKF17

List-1 List-11

{a) Distance of P from contre of tha circle @ "’l‘:;i
b} Tength of tangaii from P to the circle g @
{0) Length of chord of contact of P to the circls 0 13-
{d) Shartest distance of P from the circle s) ~113
° Watch Video Solution
List-1 List-T1
{a] The circles x* + p* +2x+3y +¢° =0 and ip) c=1
J:*-rytﬂx ¢ 2y +¢” =0 intersect orthogonally
() ‘The circle x* + p? =9 contains the circle x* + ¢? - 2x+1-c' =0 @ c=-1
{c) Thecircle x* + ¥° =9 is contalned in the cincle irl c=§
x1+y2—ﬁx —!}'+2—5—£‘i =0
{d) Thecircle x* + ¢* +2x+c=0and x° + ¥* + 2y +c=0 [8) c¢>8

touch each athar
9.

° View Text Solution

10. The circle 2% 4+ y? — 14z — 10y + 24 = 0 makes an

List-I List-1I
(a) intercept on x-axis (p)0
(b) intercept on y-axis (9)2
(c) intercepton y =z (r)8/3
(d) intercepton Tz +y—4=0 (s)10

° Watch Video Solution



https://dl.doubtnut.com/l/_xMhuoIsDKF17
https://dl.doubtnut.com/l/_fXUhmP0TaBrg
https://dl.doubtnut.com/l/_fFXGcaVtmePm

Assertion/Reason

1. Tangents are drawn from the point (17,7) to the circle % + y* = 169.
STATEMENT-1: The tangents are mutually perpendicular.

because

STATEMENT-2 : The locus of the points from which mutually perpendicular

tangents can be drawn to the given circle is 2 + y* = 338.

° View Text Solution

2. Consider, L1:2z +3y+p-3=0,Ls:2z + 3y + p+ 3 = 0, where p
is a real number, and C: 2% + y* + 62— 10y + 30 = 0

Statement-l : If line L, is a chord of circle C, then line L, is not always a
diameter of circle C.

and

Statement-ll : If line L; is a diameter of circle C, then line L, is not a

chord of circle C.

° Watch Video Solution



https://dl.doubtnut.com/l/_1OqboMAZZLwg
https://dl.doubtnut.com/l/_gZezoWwLBLZ1

COMPREHENSION (Passage)

1. Consider the equation of circle z* + y% — 2z — 2\y — 8 = 0 where A

is variable then answer the following:
The given equation represents a family of circles passing through two

fixed points. Find the coordinates of the fixed points.

° Watch Video Solution

2. Consider the equation of circle z? + y*> — 2z — 2\y — 8 = 0 where A
is variable then answer the following:
Find the equation of a circle of this family tangents to which at these

fixed points A and B of part (a) meet on thelinex + 2y + 5 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_gZezoWwLBLZ1
https://dl.doubtnut.com/l/_l4nemKx2ljDq
https://dl.doubtnut.com/l/_ankR76zGd05o

3. Consider the equation of circle 22+ y? — 2z — 2y — 8 = 0 where )
is variable then answer the following:
If the chord joining the fixed points subtends an angle « at the centre of

the circle, then a = 7 /2

o Watch Video Solution

4. A tangent PT is drawn to the circle z? + y2 = 4 at the point P (\/5, 1).

A straight line L, perpendicular to PT is a tangent to the circle


https://dl.doubtnut.com/l/_LfEA7PDAZNfd
https://dl.doubtnut.com/l/_a5Qgv4doYl9h

(¢ =3)" +y° =1

a common tangent of the two circles is

Az =4
B.y =2
Cx—+3y=5

D.z + 22y =6

Answer: D

° Watch Video Solution

5. A possible equation of Lis (A) x3y 1(B) x 3y 1(C) x 3y 1(D) x 3y 5

Az —,/3y=1
B.z + 43y =1
Cz—3y= —1

D.z + /3y =5


https://dl.doubtnut.com/l/_a5Qgv4doYl9h
https://dl.doubtnut.com/l/_wHNZhmO3yGoZ

Answer: A

o Watch Video Solution

6. A circle of radius 1is inscribed in an equilateral triangle PQR. The points
of contact of C with the sides PQ, QH and RP are D, E, F, respectively. The

line PQ is given by the equation /3z +y — 6 = 0 and the point D is

3v3 3 L .
535 | Further, it is given that the origin and the centre of C are

on the same side of the line PQ.

The equation of circle Cis
Az +2y3) +(y+1)7 =1
2 1\
B. (z — 2V3)" + (y+§) =1
Clz—+v3) +@+1)*=1

D.(z—+v3) +(y—1)° =1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wHNZhmO3yGoZ
https://dl.doubtnut.com/l/_RzHhV3UFUBze

7.A circle of radius 1is inscribed in an equilateral triangle PQR. The points
of contact of C with the sides PQ, QH and RP are D, E, F, respectively. The

line PQ is given by the equation /3z +y — 6 = 0 and the point D is

3v3 3 L .
— 3 | Further, it is given that the origin and the centre of C are
on the same side of the line PQ.

Points E andF are given by

5 (@ %) (vA,0)
V3 3 V3 1
“\22)({22
3 3 V3 1
Pl )\ 22
Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_RzHhV3UFUBze
https://dl.doubtnut.com/l/_cCky5bPFqKA5

8. A circle of radius 1is inscribed in an equilateral triangle PQR. The points
of contact of C with the sides PQ, QH and RP are D, E, F, respectively. The

line PQ is given by the equation /3z +y — 6 = 0 and the point D is

3v3 3
<T\/_, 5). Further, it is given that the origin and the centre of C are

on the same side of the line PQ.

Equations of the sides QR, RP are

2 —2
Ay=—z+1l,y=—z —1

V3 V3

1
By=—z,y=0

V3

3 3
C.yz%m%—l,y: —gw—l

D.y =+3z,y=0

Answer: D

o View Text Solution

9. Let ABCD be a square of side length 2 units. C2 is the circle through

vertices A, B, C, D and C1 is the circle touching all the sides of the square


https://dl.doubtnut.com/l/_ZzRPwf9FjU7Q
https://dl.doubtnut.com/l/_aEi4Zp3mlsfx

ABCD. L is a line through A. 27.If P is a point on C1 and Q in another point

on C2, then 2222 2222 PA PB PC PD QA QB QC QD +++ +++ is equal to (A)

0.75(B) 1.25(C) 1(D) 0.5

A.0.75

B.1.25

C.1

D.0.5

Answer: A

o Watch Video Solution

10. Let ABCD be a square of side length 2 units. C5 is the fircle through
the vertices A, B, C, D and () is the circle touching all the of the square
ABCD. L is a lien through vertex A. A circle touches the line L and the circle
C; externally such that both the circles are on the same side of the line L.

The locus of the centre of the circle is


https://dl.doubtnut.com/l/_aEi4Zp3mlsfx
https://dl.doubtnut.com/l/_NXrDHKuVFH7x

A. ellipse

B. hyperbola

C. parabola

D. pair of straight lines

Answer: C

o Watch Video Solution

11. Let ABCD be a square of side length 2 units. C5 is the circle through
vertices A, B, C, D and (] is the circle touching all the sides of the square
ABCD. L is a line through A

A line M through A is drawn parallel to BD. Point S moves such that its
distances from the line BD and the vertex A are equal. If locus of S cuts. M

at Ty and T3 and AC at T7, then area of AT 1575 is

A L it
- 5 54 uni

B 2 it
-3 5. uni


https://dl.doubtnut.com/l/_NXrDHKuVFH7x
https://dl.doubtnut.com/l/_SgbAu06SwvCQ

C.1sq. unit

D. 2 sq. unit

Answer: C

o Watch Video Solution

Self Assessment Test

1. The locus of the centre of a circle of radius 2 which rolls on the outside

of thecircle 22 + y?> + 3z — 6y — 9 = Ois

Azl +y +3z—6y+5=0
Bzl +y?+3zx—6y—31=0
Ca’+y?+3z—6y+29/4=0

D.none

Answer: B



https://dl.doubtnut.com/l/_SgbAu06SwvCQ
https://dl.doubtnut.com/l/_OublwZBeabgq

l & Watch Video Solution J

2. Two circles 22 4+ y? = 6 and z? + %> — 6z +8 = 0 are given. Then
the equation of the circle through their point of intersection and the
point (1,1) is

Az>+y P —6z+4=0

Bzl + ¢y —3x+1=0

Czl+y’—4dy+2=0

D. None of these

Answer: B

o Watch Video Solution

3.The area of circle centred at (1,2) and passing through (4,6) is

A. b


https://dl.doubtnut.com/l/_OublwZBeabgq
https://dl.doubtnut.com/l/_saSxkYXbNsz7
https://dl.doubtnut.com/l/_pWH9OnIuo0mP

B. 107

C. 257

D. None of these

Answer: C

o Watch Video Solution

4, Given the circles 2 +y -4z —-5=0 and
22 +y*+6x—2y+6=0
Let P be a point (a, 8) such that the tangents from P to both the circles
are equal. Then

A2a+108+11=0

B.2a — 108+ 11 =10

C10a—-28+11=0

D.10a + 28 4+ 11 = 0


https://dl.doubtnut.com/l/_pWH9OnIuo0mP
https://dl.doubtnut.com/l/_MiFDPsZewiI8

Answer: C

° Watch Video Solution

5. The length of tangent from (51) to the circle
2 2 0
x+y +6x—4y—3=20is

A. 81

B. 29

Cc.7

D. 21

Answer: C

° Watch Video Solution

6. If the equation az® + by? + 2hazy + 29z + 2fy + ¢ = 0 represents a

circle, the condition will be


https://dl.doubtnut.com/l/_MiFDPsZewiI8
https://dl.doubtnut.com/l/_usodrdzAEK7G
https://dl.doubtnut.com/l/_fsAfQ3AtCiRA

A. a=b and c=0

B. f=g and h=0

C.a=b and h=0

D.f=g and c=0

Answer: C

o Watch Video Solution

7. The two circle 22 + y? = 7% and 22 + y? — 10z + 16 = 0 intersect at
two distinct points . Then which one of the following is correct ?
A2<r<s8
B.r=2o0r r=28
Cr<2orr>38

D. None of the above

Answer: A



https://dl.doubtnut.com/l/_fsAfQ3AtCiRA
https://dl.doubtnut.com/l/_nmu8Kt0Fll71

| ° Watch Video Solution

8.Thetwocirclesz? + 3> — 2z —3=0and2® +y?> — 4z —6y—8=0
are such that

A. they touch each other

B. they intersect each other

C.one lies inside the other

D. each lies outside the other

Answer: B

° Watch Video Solution

9. Equation of a circle passing through origin is > + y* — 6z + 2y = 0.

What is the equation of one of its diameter ?

Az +3y=20


https://dl.doubtnut.com/l/_nmu8Kt0Fll71
https://dl.doubtnut.com/l/_8fFH2m6QHEZY
https://dl.doubtnut.com/l/_uDj9P9l2Nmbw

Answer: A

° Watch Video Solution

10. The circle z? + y* + 4z — Ty + 12 = 0 cuts an intercept on y-axis
equal to

A1l

B.3

C.4

D.7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uDj9P9l2Nmbw
https://dl.doubtnut.com/l/_4YuqSnfTY2hk

11. AB is a diameter of a circle and C is any point on the circumference of

the circle. Then

A.the area of AABC is maximum when it is isosceles.

B. the area of AABC is minimum when it is isosceles.

C. the perimeter of AABC is maximum when it is isosceles.

D. none of these

Answer: A

o Watch Video Solution

12. Centre of a circle passing through point (0,1) and touching the curve

y=2z"at(2,4)is


https://dl.doubtnut.com/l/_4YuqSnfTY2hk
https://dl.doubtnut.com/l/_hU2RT0H2AF0z
https://dl.doubtnut.com/l/_8OLJtNsZYcpv

c —16 53
' 5 710

D. None of these

Answer: C

° Watch Video Solution

13. The locus of the mid-points of a chord of the circle > + y? = 4 which
subtends a right angle at the origin is

Az +y=2

B.z? + 9% =1

Czl4+y®>=2

D.z +y=1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8OLJtNsZYcpv
https://dl.doubtnut.com/l/_izANrLWXvG93
https://dl.doubtnut.com/l/_PBeJ2s1uszpq

14. What is slope?

A (3,1)

B.(1,3)

C.(3,-1)

D.(-3,1)

Answer: C

o Watch Video Solution

15. The equation of the circle passing through (4,5) having the centre at
(2,2) is

Azi+y P +4e+4y—5=0

Bal+y? —4dzx —4y—5=0

Ca?+y? —4z =13

D.z’ +y* — 4z —4y+5=0


https://dl.doubtnut.com/l/_PBeJ2s1uszpq
https://dl.doubtnut.com/l/_g0gW00DoEoze

Answer: B

° Watch Video Solution

16. The equation of tangents drawn from the origin to the circle

z? +y? — 2rz — 2hy + A% = O are

C. (h2 — 7’2)33 —2rhy =0

D. (h2 — ’r2)a: + 2rhy =0

Answer: A

° Watch Video Solution

17.Find the angle between the two tangents from the origin to the circle

(-7 +(@y+1)*=25


https://dl.doubtnut.com/l/_g0gW00DoEoze
https://dl.doubtnut.com/l/_syxJm8XolJVH
https://dl.doubtnut.com/l/_AhSi6ZYcX9WW

Am/3
B.m/6
Cm/2

D.O

Answer: C

o Watch Video Solution

18. If two circles (x—1)7+(y—37> =12 and
z? + y? — 8z + 2y + 8 = Ointersect in two distinct points , then
A2<r<s8
B.r =2
Cr <2

D.r > 2

Answer: A



https://dl.doubtnut.com/l/_AhSi6ZYcX9WW
https://dl.doubtnut.com/l/_BY5M8ajjtNxu

| ° Watch Video Solution

19. Find the number of common tangent to the circles

22 +y* +2c +8y —23=0and2?+y? — 4z — 10y +9 =0

Al
B.2
C.3

D.4

Answer: C

° Watch Video Solution

20. If (x,3) and (3,5) are the extermities of a diameter of a circle with

centre at (2z, y) then the values of x and y are

A.(1,4)


https://dl.doubtnut.com/l/_BY5M8ajjtNxu
https://dl.doubtnut.com/l/_VS5lAJ00IEvv
https://dl.doubtnut.com/l/_dsAafFxcrczy

B.(4,1)

C.(8,2)

D. none

Answer: A

° Watch Video Solution

21.If the lines 2z — 3y = b and 3z — 4y = 7 are the diameters of a circle
of area 154 square units, then obtain the equation of the circle.

Az +y? + 2z — 2y = 62

B.z? +y? — 2z + 2y = 47

Ca?+y?+2z —2y =47

D.z2 + y? — 2z + 2y = 62

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dsAafFxcrczy
https://dl.doubtnut.com/l/_SYa5xAPyKTLa

22. The point diametrically opposite to the point P(1,0) on the circle
22+  +2x +4y—3=0is:

A. (-3,4)

B.(-3,4)

C.(3,4)

D. (3,-4)

Answer: B

o Watch Video Solution

23. The centre of circle inscribed in a square formed by lines

z? — 8z + 12 = Oandy® — 14y + 45 = 0is (4,7) (7, 4) (9, 4) (4, 9)

A (4,7)

B.(7,4)


https://dl.doubtnut.com/l/_SYa5xAPyKTLa
https://dl.doubtnut.com/l/_ouiLTRLdxKvT
https://dl.doubtnut.com/l/_qkEWKv3iGPbU

C.(9,4)

D. (4,9)

Answer: A

° Watch Video Solution

24.If the lines 2z + 3y +1 = 0and 3z — y — 4 = 0 lie along diameters
of a circle of circumference 107, then the equation of the circle is

Azl +y?+2c—2y—23=0

Bzl +y? -2 —2y—23=0

Ca?+vy’+2c+2y—23=0

D.z? +y? — 22 + 2y —23 =10

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qkEWKv3iGPbU
https://dl.doubtnut.com/l/_bUqx3dKB67ZC
https://dl.doubtnut.com/l/_0U5Lpx2sn4Ln

25. Tangents drawn from the point P(1,8) to the circle

z? + y? — 6z — 4y — 11 = 0 touch the circle at the points A and B. The

equation of the circumcircle of the triangle PAB is:
Azl+y*+42 —6y+19=0
B.z? +y? — 4z — 10y + 19 =0
Cal4+y? -2 +6y—29=0

D.z’24+y* — 6z —4dy+19=0

Answer: B

o Watch Video Solution

26. The radius of the circle, having centre at (2, 1) whose one of the chord

is a diameter of the circle z® + y*> — 2z — 6y + 6 = O'is

Al

B.2


https://dl.doubtnut.com/l/_0U5Lpx2sn4Ln
https://dl.doubtnut.com/l/_ZyKNsRgU0WKr

C.3

D./3

Answer: C

° Watch Video Solution

27. The intercept on the line y=x by the circle z* + y*> — 2z = 0 is AB.
Then equation of the circle on AB as a diameter is
Azl +y’ —z+y=0
B.:1:2+y2—ac+y:0
2 2 —
Cz+y"+z+y=20

D.e’+y’ —z—y=0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ZyKNsRgU0WKr
https://dl.doubtnut.com/l/_MWruI8qkZw6F
https://dl.doubtnut.com/l/_KpnGC2xqnfHh

28. The locus of centre of circle passing through (a, b) and cuts
orthogonally the circle 2 +y? =plis

A 2az + 2by — (a2 +v? —|—p2) =0

B. 2ax + 2by — (a2 — b’ ~|—p2) =0

C.z? +y® — 3ax — 4by + (a2+b2 —p2) =0

D.ac2+y2—2ax—|—3by—|—(az—b2+p2) =0

Answer: A

o Watch Video Solution

29.The tangent to the curve y = €® drawn at the point (¢, €°) intersects
the line joining the points (c -1, ecfl) and (c +1, ecH)

A. on the left of x=c

B. on the right of x=0

C. at no point


https://dl.doubtnut.com/l/_KpnGC2xqnfHh
https://dl.doubtnut.com/l/_P9eKHQv9xkjr

D. at all points

Answer: A

° Watch Video Solution

30. If a circle passes through the point (a,b) and cuts the circle
w2+ =4 orthogonally, then locus of its centre is

A 2ax — 2by — (a2+b2+4) =0

B.2az + 2by — (a2+b2+4) =0

C.2ax — 2by + (a® +b* +4) =0

D.2az + 2by + (a2+b2—1—4) =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_P9eKHQv9xkjr
https://dl.doubtnut.com/l/_ephoUrwiRsQd

31. The locus of centre of the circle which touches the circle

2% + (y — 1)? = 1 externally and also touches x-axis is

A (@ y)ia® + (y— 1) = 4} U{(2,):y > 0}
B. {(z,9):2° = 4y} U{(0,9): (y < 0)}
C.{(ar:,y):zr:2 :y}U{(O,y):y< 0}

D.{(z,y):2* = 4y} U{(z,y):y < 0}

Answer: B

o View Text Solution

32. The circle passing through (1, - 2) and touching the axis of x at (3,0)

also passes through the point

A. (-5,2)

B.(2,-5)

C.(5,-2)


https://dl.doubtnut.com/l/_RPXNl0yaZ49e
https://dl.doubtnut.com/l/_2m8yENa9KKQP

D. (-2, 5)

Answer: C

° Watch Video Solution

33. The centre of a circle passing through the points (0, 0), (1, 0) and

touching the circle z? + y2 =9,is

A (3/2,1/2)
B.(1/2,3/2)
C.(1/2,1/2)

D. (1/2, —21/2)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2m8yENa9KKQP
https://dl.doubtnut.com/l/_3Vvhi3NuVzGT

34. Three distinct point A, B and C are given in the 2-dimensional

coordinates plane such that the ratio of the distance of any one of them
1

from the point (1, 0) to the distance from the point (-1, 0) is equal to 3

Then, the circumcentre of the triangle ABC is at the point

()

B. (0, 0)

Answer: A

o Watch Video Solution

Self Assessment Test (Integer Type Questions)

1. Two parallel chords of a circle of radius 2 are at a distance /3 + 1

2
apart. If the chords subtend at the centre, angle of % and % where



https://dl.doubtnut.com/l/_OhDqzMapEUr4
https://dl.doubtnut.com/l/_qQJZ02YdFYXn

k > 0.Then the value of [K] is

° Watch Video Solution

2. The straight line 2z — 3y = 1 divides the circular region z% + > < 6

into two parts

_ g -
2 7
5 3
2 4

If S = 1 1
4 4
1 1
|8 4

then the number of points lying inside the smaller part is

o View Text Solution

Self Assessment Test (True and False Type Questions)

1. The point (1,2) lies inside the circle z®> + 4> — 2z + 6y +1 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_qQJZ02YdFYXn
https://dl.doubtnut.com/l/_9fWecR3ljMNO
https://dl.doubtnut.com/l/_PpL0X0VliaMs
https://dl.doubtnut.com/l/_BfZCZBftFmjq

2. The line 3z+4+5y+9=0 is a diameter of the circle

2+ y? —4x +6y+5=0.

° Watch Video Solution

3. The equation z> + y* + 2z — 10y + 30 = 0 represents the equation

of a circle.

° Watch Video Solution

Self Assessment Test (Fill in the blanks)

1. The length of the tangent from the point (1,2) to the circle

2% + 2% + 62 — 8y + 3 = 0is . .

° Watch Video Solution



https://dl.doubtnut.com/l/_BfZCZBftFmjq
https://dl.doubtnut.com/l/_4a8nb5OgeaN8
https://dl.doubtnut.com/l/_pFOKzx87p2YD

2.The equation of the circle through M (5, 4) and touching the x-axis at L

° Watch Video Solution

3. Circles are drawn through the point (2, 0) to cut intercept of length 5
units on the x-axis. If their centers lie in the first quadrant, then find their

equation.

° Watch Video Solution

4. The equation of circle of radius 5 in the first quadrant which touches x-

axis and the line 4y = 3x is .......

° Watch Video Solution



https://dl.doubtnut.com/l/_QStX0WBddmnW
https://dl.doubtnut.com/l/_FJYyLT2DQFPj
https://dl.doubtnut.com/l/_5MrGZyyVIZeu

5. The equation of circle through origin and cutting intercepts of lengths

2 and 3 from the positive sides of x and y axes is

° Watch Video Solution

PA
6. A and B are points in the plane such that B =k (constant) for all

points P on a circle, then the value of k cannot be equal to ...

° Watch Video Solution

7.The equation 22 + y? + 2gx + ¢ = 0 where g is a parameter and c is a
constant represents a family of coaxial circles any two members of which

have the radical axis

° Watch Video Solution



https://dl.doubtnut.com/l/_Ac0CFC92YajP
https://dl.doubtnut.com/l/_NiasqDnkO4Iu
https://dl.doubtnut.com/l/_TNCghJd6Jb9k

